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Study Guide Worksheet 1-7

M
Algebra: Order of Operations

Algebraic expressions are evaluated using these rules.

Order of Operations
1. Do all operations within grouping symbols first.
2. Do multiplication and division from left to right.

3. Do addition and subtraction from left to right.

Example Evaluate 56 + (17 —9) + 7 X 3.

5 56 + (17 -9) + 77X 3 =56 +8+7X3 Subtract 9 from 17.
U CCTadl = 7 +7X83 Divide 56 by 8.
gk o } = 7 + 21 Multiply 7 and 3.
S Lt =128 Add 7 and 21.
Y

Name the operation that should be done first.

1[0+ 3)x 7 2. 98 —(5 7) 3. 5 x(9 - 1>

3

AR o mul T Plicgton s P14
4.5 =3+ (4 + 5) 5.6 X D+ 2 6. 5(5 = 8)x 2
}© H ey —
\‘! \ \j i‘_‘ i (g! .} Y \ji ! f‘./ ’/EF‘ ¥ /& <, !
Evaluate each expression.
7. 2x9+5X3 8.(9(—4);:;5 9. 10-4+ 1

(s 1 15 s &5 (4
T ? 7

10. 15 — 18+ 9 + 3 1130 = (12 = 6) + 4 12. (72 = 12) = 2
1$-2 %5 36572 /4 e <4
18. 206~ 9) ~ (5 + 1) 14 4852352 x5 15, 90 — 45 — 24 + 2
I x 7 . AV AL a0 ~yg& - V!
LYy 4 . 26~ (0 X7
16. 81 + (13 — 4) 17. 7 X 8 — 2 % 8 18. 71 + (34 — 34)
1 O ANV A | ) 21+ (
) [ ,} J ¥ L > . /? ‘;r
((” S~
L v /|

Glencoe Division, Macmillan/McGraw-Hill
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Algebra Connection: Variables and Expressions

The area of a triangle can be found by
multiplying the base of the triangle by the
height of the triangle and then dividing by 2.

If we use b to represent the base of the triangle
and h to represent the height of the triangle,
the area of the triangle can be found by
evaluating the algebraic expression below.

~|heighth

bh
2

The values of b and A change for different
triangles. They are called variables.

Examples Find the area of each triangle.

Triangle A Triangle B
Evaluate % Evaluate %ﬁ
ifb=6 ifb=8
and h=T7. and h = 10.
6 X7 _ 42 8x10 _ 80
g = g b 2 B
=21 6 = 40
The area is 21 square units. The area is 40 square units.

Evaluate each expressionifa= 2,b= 3, c = 4, aqd d=12.

1. c+ 2 2.19-d) 3. 3(h + 5) 4. "bg + 12

!_7", I "
i’?’_,-‘ |

Glencoe Divisicn, Macmillan!McGraw-_}’-liil
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Practice Worksheet 1- 7
Order of Operations
Name the operation that should be done first.
15+4'7 2.13(6433)
2 8 | 3% : |
’b / 177
l {
4.6><8—4 5.32-4+2
I ‘/ /\< 3 _:t s
Evaluate each expression. U
7.8.7+8-3 8.
9, 8 — GT 3 10.
L TD
11.9-4+2+6 12.
13. 18—(7—7) 14. 32 = (8 — 4)
15. 90 - 1 16 - () 16. 3 (18 3 12) = (5 = 3)
17. (24 —_10) —3 %3 18. 4 (22 = 18) - 3" i
19. 12(5 = 5) + 35 20. 18 (4 — 3) + 3+3
21. (34 + 46)?% 20 + 20— 22. 92 — _66&1 —
23. | NS Sor 24,9 - A -

- " AECt Wi
Use yoy)élcul to”f”f etermine where to insert parenfmeses to
make each sentence true. You may use the paren ,_treses kﬁys

25. (32 + § X 3+ 4 =30 26. 15—3'7‘\/6_2
27. /22+8 +8=4 28.18+(3+3"‘:~2=1
29.;:‘:1}3__? 8 )+ 4;_‘;:—f 10 = 12 30. 5 - \f5¢5‘ —5=45
‘51 6+é+‘ -6l42 32. 200—5,s‘§0+80+2? =10

N |

Glencoe Division, Macmillan/McGraw-Hiil
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Practice WorkshqgtiES \

f'

1x+3 2.2-3

:{ !'-' 'i
4. 13 + ¢/ 5.x + 20 6.7y + zu

)7

7.(_{}"!‘3—2:; 8. ‘f72+2\‘

10.%x ~ly + 8 11.°¢f — 2

-_\"“——-gﬁ______ _-‘ no <
e D7~ S,

¢ Cr
13. yz + 10 14.\y2 - 10

1 ‘_; (0 Sy

py Evaluate each expression ifa=8,b=4,and c = 2. ‘
| . 16.°a + b +¢ 17. 4b 4 a 8 18. % \a:z
kf____._}_':‘f 1o ‘] o .' Y - A

B S — )
T o B g ~n s e T
g e TS

‘\"“"‘;2 Lt - -
20, $6d ~ 2152 + ¢
. “ -

T &

19‘“5 -i- 5

e e T ey

~— | - - _ "g'_;:"‘A,,., ' . ¢ ity
22, %Ta:{— bY 23. 3 (b~:’~ a) —c° 24, 2b — 3¢ -

~

= ) k{( n ; .
Evaluate each expressionifa=12,b=3,¢c = 4 m=9,andn=3.
2851 + 6 29. 1mn’ 30. & — &

an ‘ i e

31, 2744 32. 3 (3+7) - 33. 4c g

\_,/-——'-—.-q—...___ e ————— " ,', -~ T —S . 2. 2 i

: @ = "k' — \ T i ) ) L ) P
r« \\“_.“\_ LF o 5 - S 43 b . S _ﬂ) /. ,W;J..: |
@ 34, 10249 g5, LI 36.% (T b)% ¢
T e . } \ y
£ e ] Y | wi 8 {

e > S .
(6~ 3 — :
- Glencoe Division, Macmillan/McGraw-Hili J
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Quiz -- Terra Nova

Review
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Name:

18

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.
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Units
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Grade § Grade 6 Grade 7 Grade 8

[ Prain mik Chocolate milk

If chocolate milk costs 10 cents more per
carton than plain milk, how much more
did the sixth graders as a class spend on
chocolate milk than on plain milk?

® $1.50

$0.10 §

© $1.30 X uj, 1

® $020 LS 2l LSO

~

<€ g C“;
® «FBD §° 5) oy
ZABE R0 s WS

= f
Wi,

Mariko placed pencils in boxes. She put

10 pencils in the first box, 14 pencils in the
second box, and 18 pencils in the third box.
’. If the pattern continued, how many pencils
did Mariko put in the fenth box?

¥ J.

sV ) d O I
42 \: { § ;“ i I xL”
@ 4-'6 C .‘ { p "(,E ‘ L‘I k‘_'ié"r-‘_' ‘I uf B I
© 18 . 205 15H3 Y

17 ! ,-‘l;: v, { s A
Narme: Wyelhatlh oy e
A~ Y
. Lo p
i H

% 6’, Which of these fractions is greater than 3 0
and less than 27 {pu
9
AWl
/ l n

B 2ciciey il
\(@\ 7 .!\ { iR Oﬂ‘
A
\5, Juan has a bag that contains 25 blocks.
There are 12 red blocks, 8 green blocks,
and 5 blue blocks in the bag. If Juan

reaches into the bag without looking, what
is the probability he will ot pick a green

:—-I,q ity = oo
[

block from the bag?
A
© 3
@ %
4. Which of these i another way to write
0.375? |
B $
3
37.5%
® %

7 . The area of a rectangle is 24 cm?. If the
length of the rectangle is 8 cm, what is the l})
width of the rectangle?

® 6cm | ﬁ/',}zgim

@  4cm 1"
= ]

© 16cm 5 { 2 G ( /

® 3em -
o)

y L
¢
" W
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Which of these statements about measures
is the most accurate?

® An average automobile gas tank holds
3 liters of gas.

An average swimming pool holds
about 50 quarts of water.

®

© The Atlantic Ocean contains about
10,000 gallons of water.

@

A soda can holds about 13 cups of
soda.

¥ //, Alana paid $90 dollars plus 6% sales ta}'tr "y

for a new coat. What was the total cost of
the coat?

The inside measurements of Lenny’s
storage chest are noted below. How many
cubic feet of clothing could the chest hold?

e il
7

® $ 96.00 0 | ﬁ
® $ 95.40 (¢
® $100.00 S 40
; T RS —
A i Tl b //
:f!r "’:i‘ \ - A, “”“:j

¥ /4. Karen sees a sign that says oranges are 5

for $1.20, and grapefruits are 6 for $1.50.
How much more will she spend by buying
one grapefruit 1nstead of one orange?

@ $0 01 ‘ﬁ_‘-_ 1) ¢ Ao, Odng @

¥ /0

4 ft
3 ft
7ft
® 14ft° 7 5 by e
25 ft3 s ey "__ i
© 56 ft3 FERATE &
@ 843 f{\‘{{‘j
[ @ Pors )
e i
b fev T
W Cy

Mara and Ann are each rolling a die once
to see who will start the game they are
playing. The player with the higher roll
begins the game. Mara rolled a 2. What is
the probability that Ann will roll a number
higher than 2 a}nd get to start the game? .

® 3 i
‘_-—"‘:."'"""‘ tgn /
® 3 fo) C
trot §
© % 7 7 ]

I -: { ¥ vl

® $0.05 f 1 v ‘
© $0.25 (/) J 2§ rapeten
B $0i80 T R

\,f"‘f

¥ /J Jan manages a i)xet store. During the

morning 24 adults and 16 children entered
the store. What is the probability that the

next customer will be a child? q

g f 110 ) Bl chy ki 7 L
© 1
0 2

¥ /#. Jacob, Terry, and SlkO all live on the same

road. Jacob lives % mile east of Terry, and
Siko lives 3 times as far to the west of
Terry as Jacob does to the east. How far -,
apart do Siko and Terry live? =,
® § mile
2 .
s mile - 2

® !
® 2 miles 33 f ) : _,( ﬂ
©

o0l ot)
2% miles
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/\9" Wthh number Tline 1nd1cate= that x 2 47 The following bar graph represents the
number of pets owned by each student in

7 ey S Y £ T N NS R Karen'’s class. Use the graph to answer
questions /- Z¢&
tﬁ -t ———— :
) T 2 3 4 5 6 T ;
© = — T
1 2 8 4 b5 6 7 857
B 6
-t - ® 5
© 1 2 8 4 5 & 7T s 4
&4 ——
[+
g ey
Z 2 7
/d. 11 ‘ |
O b a st i S -
0 1 2 3 4 A5

amberoteets N
X% 1 e R Y

X /{. How many pets are represented by tz:ue :
G ry/
Vi 4

graph? Sl
@ 54 %
R 58
3 Wb e X © 32
® % h{\* o LN )2 © 28
i uw” 32 %k O
@ 2
r ® 15 */f How many students have more than
2 pets?
¥ ) ® 5 7
/? . G Annual Average ® 3 'J T 5+1 ) \f
Fuel Cost @ o9 ' =
Subcompact $375 ® 1
Compact $450
Midsize $669
Large $853
Pick-up truck $938

¥ J¢. What fraction of the class has exactly

. _ 2 pets?
If the sg%co/rnpgct is driven 10,000 miles in &

a year, what is the approximate average ® 1 A ~
fuel cost per mile? d ]C ,L’r NP it A Y

i L POl & ( R
@ $ 0.04 5T € : g <
$ 0.40 /j ”-; 0. @) © _%
© $ 4.00 e th o | o %

® $40.00 [O,fld 137




¥ Z/. Saul planted grass in the shaded area of
his backyard. What area did he cover
with grass?
Bt 7
21
g
g
T ,:-“
21t ]
.

® 80 ft? —
10 ft2
@ 701t
© 16 ft2

4 7¢. Which fraction is missing from the number
pattern? '

1 1
y 29— 5 4

1,
-? - % _;_‘__._ _ s

ool
e
|en

H

) 0!

©® 0 ® ®
owoleo ooy cap= 5]"‘

What is the radius?

® 14 inches
48 inches

@® 7inches

® . 3inches

rZ 4/ The circumference of a circle is 44 inches.

¥ 24 Jason has 4 coins that total 45¢. Alma has
3 times as many quarters and 4 times as
many nickels as Jason has. They both have
the same number of dimes. How much
money does Alma have?

® $0.90
@ $1.25 AL AT R ff:’\: ,' \J/
® $1.50 }’r (x "\t" (’J_"_,‘,{f:.-'{'\:,'“ /

of these is the length of the diameter?

® 32 inches
21 inches
@ 14 inches
© 7 inches

(=30

¥ 4. The area of a circle is 154 inches2, Which

91
- e
4
O s
17 ZX =
) 4 €
o
n-_\(/{( \i
O | A
& / ST,
‘LY bacst ] _
"--._"‘i o vy r‘._é:’\;l
X1 Y
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Quiz -- Price Graph Nasitgaoi il

1)  Construct a price graph (on graph paper) using the following data:

Chips 9-0z $1.00
Pretzels 12-0z $1.50
Crackers 7-0z $1.25
Doritos 8.5-0z $1.25

2) Use your price graph to answer the following questions:

What is the price of 8-0z of pretzels? ‘54/ [
What is the price of 1-o0z of Dorito > L9 Y
b2
What is the price of 12-0z of Crackers? H & G
Vet g Y F_}i €a VA

over —#



3) Use your calculator to find the unit price (price of 1 0z) of each
product. Be sure to show process.

Chips

Pretzels
Crackers
Doritos®

9-0z
12-0z

7-0z
8.5-0z

$1.00
$150
$1.25
$1.25

) » i > ‘ ' '
QJ.'l | ___{_Li_"‘ e \J!___lli/_;‘l‘ﬂ' j——.’{—-\“—g‘z W \ ¢ l ' :v
W 9 03 15 o2 == |
M e = L%
\ ¢

¢ \ X | 3o ' /e
I/ & / t 4 \i \j ¢ "
~ ) [ LY ;‘ ’l--} '; U\ /:’ 4 ‘ [.;"
Toio i s d/ \NY o U . 0) ; /
! { C¢ y 4 ?/ IRG [3 L/ i‘r-.f L} =
{ ( o\ (O ALY T { &% g / NG
VL .

Chips

- - 1\|
i AR PR e
Pretzels | 2§/ 1ps N
)31 | Ny
~ { 1 \ |
/11

Crackers & b

Doritos—
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Write each decimal shown in number form and in word form.

1. 2. E 3. HFEEEEEEE

Write each number as a decimal.

Ve : O ( \ 4

4 six hundredths .26 5. six tenths

|6, six thousandths 1 L. o 7\ fifteen ten-thousandths
\8! fifty and four tenths £0. Y9 9! four and six hundredths

10. one hundred eight and ninety-five hundredths 103, &S

11, two thousand four hundred seventy-five and one tenth /.
12. nine and four thousand one hundred twelve ten-thousandths

1\{2. ninety-one and three hundred seven thousandths

14. nine hundred sixty-eight thousandths . ' = ©

Find each answer.
15. How many tenths are in 1 one?
‘16.,? How many hundredths are in 1 tenth? _L




You probably never timed a roller coaster, an elevator, or the hand on a wristwatch! But somebody has! !
Here are some surprising facts about the speed of things. The numbers are in miles per hour. Read the '
speeds of each of these unusual things and answer the questions about place value below each fact. -
STATEMENT ' SPEED (mph)
1. The tip of a 13 inch long hour hand on a wristwatch. y
a. What is the place-value position of the 22 [ | ¢ :
b. What is the place-value position of the 72 1€ 1 /| 0915 0 000 00027 5
c. What is the place-value position of the 5? [ w.dec (nc /U777 U N T TUNT 41k 404
@ The average ground speed of the three-toed sloth. i
a. What is the place-value position of the 82 _Th¢/cnai 1 0 i 09 8
b. What is the place-value position of the 9?7 __» { '
35 A\brisk walking pace for a human. e G : '
a. What is the place-value positionofthe 52— 3 7 5
b. What is the place-value position of the 7?7 .
c. What is the place-value position of the 37
[4) The average speed of Roger Bannister during his 4-minute mile.
a. What is the place-value position of the 17 __ ¢ ¢ ‘ 1 5
b. What is the place-value position of the 52 _¢
b Th\é”fzﬁt‘estpasseng tor. - 2 2 7 2
What is the place-value position of the 77 T ———— .
/6. The Beast roller coaster at King’s Island. .
) . . ,
/ What is the place-value position of the 47 __ "7 6 4- 7 7
7. The fastest-bird-inTevel flight; the white-throated-spine-tailed-swift. l O 6 2 5
What is the place-value position of the 57 o .
8. Speed of ball in world’s fastest recorded pitch
by Nolan Ryan on August 20, 1974. ] 0 0 : 9
What is the place-value positionof the 97 __ [
9. The speed reached by the space shuttle Columbia on its first flight
-approximately 9 minutes after takeoff. = ] 6 7 00
What is the place-value position of the 77 i ] !
T 10. The speed of light. fa#' Syl 4 B
| What is the place-value position of the 77 _ NGy $Th ¢ 6 70 y 2J5 l y 6 00
[ ~ ‘
/-Ia-_\._\



Use >, <, or = to compare each pair of numbers.

1.04 ()06 (2. 2.46 () 2.41 3. 9.83 () 9.831
(\f"t}f‘ 0.5 () 0.416 | 5. 0.387 () 0.378 (6. 4.8 @ 4.83
7. 1275 () 12749 (8. 508 (3 6.030 o, 23.65 () 22.66

(10. 7.382 ) 7.823 11. 896 () 89.06 C Jvz 5.36 (1) 6.35

Order from least to greatest.
/

13. 0.4\0.7, 0.3 / (14,)5.68, 6.73, 5.51
/- L. € 63572
i / ' i
15. 21.6, 21.006, 21.06 16.) 1.88, 0.888, 1.8
0939, 1.3 .| 83
17. 8.28, 8.132\8\1 23,8.213 (8. 6.57, 5.68, 5.67, 5.8
| 5C2,€8%, 687 417
Eljid Each) answiet Rainfall (recent year)
~19. Order the names of the cities shown in the table City Rainfall
“from-the_city with the greatest amount of rainfall Al 1172
to the city with the least amount of rainfall. ) ane -
New York | 1.237 m
o : Seattle 1.119m
(20. )Indianapolis had 1.193 meters of rainfall. After
wh/'ch city in your list would you put Indianapolis?.
A Hato |
I | =—2
E YESTPRED
= A
- ! A
61) Which list shows numbers \\2}[ Which is 1.042 written in words?
_/ in order from least to greatest? Skill 1
Skill 3 F one and forty-two hundredths

‘G one forty-two thousandths
/@ one and forty-two thousandths
~ U one thousand forty-two

A 2.3, 2.03,2.033
f%é.os, 2.033, 2.3
C 2.3,2.033, 2.03
D 2.033, 2.3, 2.03




HIGH-SPEED RECORDS

Mile runners have recorded some incredibly fast speeds—and every year, they try to break
the records with faster speeds. These are some of the times for the 1 mile race recorded
between the years 1973 and 1981. Rank these times from the fastest to the slowest
(fastest being 1, slowest being 9).

#

Date Year Time (minutes) "~ Place Rank
31 Aug. 1979 3:49.5 Crystal Palace e
25 July 1973 4:00.0 Motspur Park A
26 Aug. 1979 3:49.57 j Crystal Palace | o] i
17 July 1974 3:59.4 Haringey e
1 July 1980 3:48.82 Oslo -
30 June 1975 3:57.001 Stockholm —
20 Sept. 1978 3:52.8 Oslo : pE—
26 June 1977 3:54.69 Crystal Palace £ o nn
28 May 1977 3:56.201 Belfast .

In 1912, Hannes Kolehmainen sef the first 5000 meter world record with a time of
14:36.6 minutes. On the graph below, plot the points for the following times and connect
them for the men’s 5000 meter race.

e TIME IN MINUTE AND SECON DS

15:0

Year Time (min.)

1932 14:16.9
1939  14:08.8 14:00-
1942 -13:58.19
1955 -~ 13:40.599
1965  13:34.8

1%:00-

1930 35 ‘40 45 ‘50 55 ‘o ‘65 70




Give the place value of the underlined digit. Then round the

number to this place value.

1. 42.4 /2.)7.7961 3. 96.08
" \
-\ 7 TU < ,\ r
" . ! % /
A().a_s_w , 5. 20.993 o~ (6/13.2043

v

¥

Round to }he underlined place value.
Al

|

Marc said that toﬁhe nearest dollar, he spent*é15.00 na CD.
Find each answer.
|

23. What is the least amount that . @ What is the greatest amount
Marc could have spent? that Marc could have spent?
K, U

YWY &



WELL-ROUNDED ATHLETES

Many athletes are famous for one professional sport, such as baseball, football, or basketball, but they
also participate in other sports. Read about these athletes and their other famous accomplishments.

ot A B A5
P e Terry Bradshaw (professional

football player) set a high-
school javelin record of

Y

74.@4 meters in 1966.
Round his javelin distance
to the nearest tenth.

) ‘,{' 2 Herschel Walker (professional

football player) was an outstanding
sprinter. He sprinted 10.10 seconds
for 100 m in 1982. Round his

time to the nearest

whole number.

p
L/] 'Kﬁ P

3.. Gale Sayers (profes-
sional football player)
was ranked third in
the world junior long
jump in 1961 with a

;“} g

(professional base-

X~

4. Jackie Robinson

5. Wilt Chamberlain
(professional basket-
ball player) was a
successful high
jumper. His best

jump of 7.58 m. ball player) headed jump was 1.99
Round his record the world long jump meters. Round
to the nearest tenths ranking in 1938 his record
place. with 7.78 m. Was to the A
his jump closerto 7 |- nearest b
' or 8 meters? tenth. h
Pt il i
Round the following decimals to the underlined place-value positions.
z v
6, 7.35 ald 7. 5.986 8, 8.981
Gy o e 10, 41064 _ /[, 1 1. 965 _ 9.2
(13. 400.058 Usn |\ 13 0am 14, 26543 S
/
15. 17.976 16) 4993 Y. Y% 17. 0.0181
(18 1581 _Y¢. 9 19. 432.987 %) §7.1245. 1 [, 12




Estimate by first rounding to the nearest whole ;:n%berv //(/L/

1. 30.2 2. 997 3. 4216 4. $59.11
+15.5 + 60.22 + 8.19 +3196 4,
‘4 7:— ,-..‘.“I ,r
5. 195 6. 20.35 7. 48.32 8. $6229
— 0.68 — 14.527 ~ 6.1 -'9.75 M
T2y 9~
9.39+354 10. 78.03 - 104 H)
PO RO P PRSI 12, 47.3 + 892 +2.0 4,10 95
L —
13. $71.94 — $4.28 14. $88.40 + $8.55
L" 7 A/ U2
15, 37.941 — 18.07 16, $147.80 — $104.50 ~3.30 ‘--i‘s 12
17. 56+ 131 18. 303 +21.7 (—’,{jﬁ__?_ :
19 3.7 - 0.81 — - 26, $19.25 — $3.95 6. GOF ><
24.17.012 — 1.8 22. 65.75 + 13.02
23. 1865 +2.3 4 31.26 + 0.995 __'__Z NG
25, $1.99 + $3.40 + $ 3.88 + $0.97 _ . 5
| . - - (\ //}
E?lve' 4 Baseball Equipment
/26, Estimate the cost of a ball and a bat. il Shoss $29.75
| 27./Estimate the cost of shoes and a glove. VO Bat $16.49
Ball $8.89
28/ Kim paid for a ball with a $20 bill. :
Estimate how much change she received. Glove $19.19



13.

17.

19.

21%

/

e
0.25 /4 4.086 =

. 8.91/+ 11.4 XV 0.006 = _L 26
/ X 5

23, 24

25
‘1

.\

The times for two teams in a 400-meter relay
are shown in the table.

i/'27. What was the total time for Team A?
! \

| 28. What was the total time for/Team B?
\ [

Solve.

: 29. Which team won thei relay'ﬁ\ Pa

15,

| T
8

10.8 12.

+12

~.6.256 16. - 43.007

ﬂ@lﬁ_ ______ e g

. 2.05 + 5.08 =
v .84 49217

. 18.20 + 43.39 = [, LS Y

| 1.75 + 2.39 + 6.56 =*Y 1 /() 3 9
. J&a+ 4021 vo= (0637 3=

TUU400-Meter Relay

Ist 200 m | 2nd 200 m
2.92 min | 4.01 min
3.00 min | 3.95 min

| Team

" | Team A
Team B

\ ()



Subtract.

1. 98 D) 47.09 3. 825 4, 6542
- 7.8 [ |26 - 6.62 [ — 4460
! . . ] » "y . ‘:‘ fjw._.
5. 3421 ‘6. 9.3 /7. 6204 8. 18902
— 0.409 - 4546 —29.004 - 6.604
1\ /fj,i | | | | 12,19 ¢
9. 15.306 10. 14.30¢ 11.  63.48 12, 37.49
— 8.73 — 3429 | L 537 (1, Z339%"
13: 16 — 1686 = L 14/21 — 3.38 =_1 /6 >
15. 9196 — 9097 = 16, 12.004 — 4.873 = L 101 '
) :
17. 49071 —20= 18.\1-8320 — 954 = [ (826
19. 74 — 16473 = }zg{.sz _6.091 = U/ e
R Lic: @ ,ﬁ’f
Solve. ' (J i

21. You buy a CD for $12.99. You pay with a :
$20 bill. How much change should you get back? —

22. The diagram shows the total length of |
the Mackinac Bridge, including the two A_’_\ /]&
x - : i

approaches. What is the length of the

main (middle) span of the bridge? — >
‘,1 s ] 0.549 km ? km © 0.549 km
| 20 " "
~— 2.256 km
Ll O



Solve each problem.

The table shows record catches for freshwater fish.

1.

. How much more did the bass  / N N

What is the difference between

: —
the weight of the trout and the 1) ¢ 1 Record Fish Weights
weight of the whitefish? ~ 2o sy Largemouth Bass ~ 22.25 b

White Catfish 18.875 1b
Sockeye Salmon 15.1875 1b

weigh than the catfish? y e 573 14" 56 ‘Brook Trout 145 b

. Brian caught three brook trog‘i that Lake Whitefish 14.375 1b

weighed 4.8 pounds, 3.54 pfounds, ]
and 2.71 pounds. What wasg the ” e
total weight of the three ﬁsl{ﬁ? \

{ * | 5.C . t e

. How much more did the record : &

brook trout weigh than the three 3 - " g
trout that Brian caught? X A LWV YV T '

Use the map at the right.

5.

. How far is it around Sunset Paﬂs \

How far is it from the tennis

y & Sunsetﬂ Park
court to the beach by way of LT e kL
the ballpark? LAY i ‘Daniouse 6 km eac

How much shorter is the direct
path from the tennis court to the 0.55 km
beach than going to the beach ) =4 '
by way of the ballpark? - MY WE

Ballpark
0.25 km

-,

Tennis Court

using the four outside paths? ~ \__



TAKE TO THE SLOPES

Felipe, Raji, and Jim are taking to the ski slopes for the first time this vear. Solve these problems to
find out how much it costs to have fun in the snow. (Find the group’s expenses.)

1. 1f ski boots cost $]94.47, skis cost $327.28, and poles cost $65.79, how much is Felipe
planning to spend if he purchases instead of rents his equipment?

2. Felipe’s dad has given him $350 to spend on boots, skis, and poles. How much money will
Felipe need to withdraw from his savings account to buy the equipment that he wants?

3. Raji is planning the transportation and lodging for the trip. If the round-trip airfare will
be $341.93 each and three nights’ stay at the mote] will cost each boy $121.05, how much
should each boy budget for his flight and motel room?

4. Jim is investigating renting his ski equipment. The first 2 days he is planning to ski, so
he will need to rent boots for $10.87 and skis and poles for $15.46 a day. How much will
his first 2 days’ rental fees total?

5. The third day Jim plans to snow board. The boards rent for $8.25 an hour, and the boots
rent for another $2.00 an hour. Lessons are $33.80 an hour. And he needs a lesson! He
decides to snow board for 5 hours and, in that time, get a 1-hour lesson. He also must
pay $35 for a lift ticket. How much will his third day on the slopes cost?

The boys plan to eat snacks at the lodge during the day to keep up theirrrstrength for skiing the
slopes. Here are the prices on some typical snack foods at the lodge (tax is included).

.U\l‘! PizzA SUCE........5.273]| nyacHes R R Y
@\ | soFT pleTE.é........ 085 | proie .o :
WEW Eﬁfﬂ%’é Eﬁses:é‘:'.::',',: 1971 CookiEs ............ :
( GE BROWNIE ,4.2 Hor poG ..........
LOD | SEETETERRTEY i 371 Cilipe

BAGEL ............. 1.24
HOT CHOCOLATE . ... n NOODLE Soup. .....
MENu . s OATMEAL ........
D SPRING WATER ... ...

6. Raji orders a pizza slice, nachos, cookies, and a soft drink. How
much will his total be?
If he pays with a $10 bill, how much will his change be?

7. Felipe orders hot chocolate, oatmeal, and a bagel. What does his
order total and what will his change be if he pays with a $5 bill?

8. Jim decides to snack on a grilled cheese sandwich with noodle
soup, spring water, pickle, chips, and a brownie. What is his total
food bill and what is his change from a $20 bill?

It



Estimate each product. Round to make the computation easy.

1. 6.43 X 8.7 2. 34.5 X 9.6 3. 3.07 X 1.85
e G Bl taig vl
X = i X = X =
4. 93.9 X 0.4 5. 0.49 X 5.1 6. 106.9 X 0.008
R I 3 ¢
X - X = Al X
7.9.832x65 Y [ ) 8 14.3x7.08 9. 22.049 x 3.27
70, 4.63 X 0.9 3 M. 62x7.746 W A ThAg 317 x 0.4
b = [_:, ] { w: *..‘: : "‘ ") ‘_7. : L ] .

: 3 /
IS/ 7

- — et ]

13,615 x 999 149 ¢ 1 0608 X 21.4
— ?t 9 - 25 BT e,

TI 0\ './'-'-,!:--_\ :
St VAT

(5. 7 % 0.083

S N {

16. 0.9 X 7.9 - . 17. 321 X 4.8 . 18. 105.2 x 3.8

-1

A light-year is the distance light travels in‘a‘year.
It is about 9.5 trillion kilometers. Use this information
to answer each question,

19. Alpha Centauri C is about 4.3 light-years from
Earth. Estimate this distance in trillion kilometers.
(Hint: Estimate 4.3 X 9.5))

20. Sirius is about 8.6 light-years from Earth.
Estimate this distance in trillion kilometers.




Place a decimal point in each product.
1, 12X 876 =10512 (2 467 x7=3269 (’/3. 8x17.6=1408

/4. 2.831 x3=8493 (5. 0236 x 21 =4956 (6. 3.375 X 8 = 2 7.0-06-

N e

Multiply. \
7. 04 /8. 0.39 9. 0.12 10. 8.3
N / ]
11. 0.208 2.11.022 3. 3.7 14. 052
X 24 % 15 \~ X 65 \ ) X 26
a ) 1% £ )
AL W 2D 0 | A\ G
T ;}‘ - /\—’\\" Em—— y 1 b Sl __\‘f\“ ¥ /
15. 324 % 0.28 = - 324 e ses08 x 12 = L L My
(17.1,\6)5 x10=_L 3  257° f18 g111x9=
1’é 18x 141 =280 20 - v [20. 6 X 3.422 = Lhyod)

%1/. $1.02.X 60F 2L £ 54 - 42 9 X 200.4 =
‘ ; ol &

Solve.

-

3. The Beast, a roller coaster in Cincinnati, Ohio, is
1.4 miles long. How far would you travel in 5 rides?

¥ ;
24. The Dragon King in Salou, Spain, has a track that 7 27 7)
\_“is 0.789 mile long. How far would you travel in 3 rides? = L~

1)



Multiply.
1. 10 X0.5.=

3. 1,000 x 0.005 =
5. 100 X 0.67 =

7. 1,000 X 3.42 =
9. 3.65 X 1,000 =
11. 0.008 X 10 =
13. 10 X 3.657 =
1. 112 X 10 =

17. 1,000 X 0.001 X 0 =
19, 3.2617x71,000"=
21. 58.02 X 100 =
23. 10 X 0.389 =

Solve.

10.
12
14.
16.
18.
20.
22,

24,

100 X 0.05 =
10 X 0.67 =

0.67 X 1,000 =

. 100 X 45.6 =

0.5713 X 100 =
89 X 10 =
0.06 x 1,000 =

0.4671 X 1,000 =

100 X 0.01 X 100 = -

10 X 0.004 =
1,000 X 7.2 =

65.2 X 1,000 =

25. A baseball must weigh between 5 ounces and
5.295 ounces. Ten baseballs would weigh between

ouncesand ______ ounces.

26. A tennis ball must weigh between 2 ounces and

2.065 ounces. Ten tennis balls would weigh

between ____ ounces and

ounces.

27. A football must be at least 10.875 inches

long. What is the shortest total length of
100 of these footballs laid end to end?

19



Place a decimal point in each product. v
1. 3.7 xX19.8=7326 257><199-11343 3.29x1382=40078

4. 10.2 X 9.49 = 964798 5. 1214(X8—9712 6. 0.02 x 3783 =7566

/MuIﬂ)pIy Estimate to check your ansv?é'r” '

/{_ 50.9 8. 0.91 9. 9.031 - 10. 0.36
J 0.9 x 0.2 X 05 X 0.7
(ISR 0.132 YASS )23

11. 0.678 12. 92 13. 56 14, 12 52
X 1 X 0 25 / X 4.8 X 1.6
| 28 3 Ul 6 aug ~<| 7
I I ) P
/ J 4} “ 100 ?‘,‘:*—1“\ \______)
15. 555 x 0.7 = _20. 10 \/ \]oz><06~‘. L) . P
- \L ‘\3 ) e ——— 3 X ; / i .‘.: « C‘\’ e T "_:'”";_'_'
1. Bld o008 =0\ 1 207 207 0 18 09><2004— [ 20, LA v .
3 ’}.‘{_:"]‘. > -'\ - ; N = ‘; L ) -
&é\s 3xass=_RAUI" 35500, 4.7 x 8.12 = | Y
\L ;} ,;’; p = l‘ (_2, /“ @.. 7____‘_(_,

Solve Remember that to flnd*the area of a
rectangle, you multiply the length by the width. : v

21. A rectangular park is 1.5 miles long and ‘ / g =
1.2 miles wide. Find the area in square miles. 0

22. A square floor tile measures 4.5 centimeters-on PN
each side. Find the area of the tile in square centimeters. 20,29 Ch

l L ¥
( v L/ (
Xy 7/ -
’ ( / [ Ff ‘ L‘
u 0 72 6
r S5 A a8



Find each product.
1

5.

g <
15.
17.
19.

21

0.028
e 04

2.3
X 0.015

D.035
X 0.09

0.3 X 0.002 =
0.003 X 0.02 =
0.09 X 0.03 =
0.003 X 0.6 =

0.67 x 0.01

Solve.

23. A pen costs $.75. Sales tax is 0.08 times the
cost of the pen. How much sales tax will be paid?

2. 1.83
% 0.004

6. 017
% 008

10. 2.34
X 0.0005

14,
16.
18.
20.

22,

0.0102
X 0.045

0.45
X 0.08

03X 02 =
12 X 0.0005 =

0.07 X 1.1 =

1.003 X 0.007 =

2.3 X.0.0003 =

4. 4.12
X 0.0043

8. 0.098
X 0.032

12. 6.73
x 0.011



Solve each problem.

1. Use the Healthy Hamburger Menu on the-previous pagéf.“ -

How much would a deluxe hamburger with-cheese;a-salad,

~ and a beverage cost? '

|-2. Lauren earns $4.50 an hour babysitting. How much will she
“—garn in 3.5 hours? '

/3. How much change did Aaron get if he paid for a $6.25
| movie ticket with a $20 bill? .

fl. Fines for overdue books at the Maple Park Library are
\__$.08 a day. What is the fine for a book that has been
overdue for 14 days?

( 5. Apples are on sale for $.85 a pound. How much would
__ 2.5 pounds of apples cost? Round your answer 1o the
nearest cent.

/6. Ms. Ryder bought a birthday present for $18.75, a card for
kf$1.98, and wrapping paper for $2. How much did she spend?

(7. ACD was marked $12.50, but with sales 1ax it cost $13.56.
\_, How much was the sales tax? :

$1.489 per gallon. How much did he pay for the gasoline?

Vi
. /5.\Mr. Kenny bought 8.2 gallons of gasoline that cost
_Round your answer to the nearest cent.

/9. Randy has a coupon' for $.50 off the rental of a video.
“_ How much would he pay for a video that rents for $2.497?

C10 How much do you save by buying a 24-ounce box s2.11

_ of corn ﬂakes instead of two 12-ounce boxes?

%y 5y




SPRINGBOARD TO DECIMALS

Melissa and Tom are on the diving team at Rocky Top School. They specialize in the 3-meter spring-
board competitions. Today they will be competing against Tina and John of Challenger School. Their
dives will be rated on a scale of 0 to 10 by a panel of five judges. The highest and lowest scores will be

deleted. The sum of the three remaining scores$ will be multiplied by the degree of difficulty for the
dive as assigned by FINA (Federation Internationale de Natation Amateur) diving rules and upheld by
United States Diving, Inc. Find the divers’ final scores using the information below. -

W /. ) ROCKY TOP ScHooL
Scores Used Sum of Degree of
Name of dive 1 2 3 3Scores x Difficulty = Final Score
Back somersault (pike position) 8.1 7.9 83 1.8
Forward 172 somersault (tuck) 8.7 88 85 1.5
Inward flying somersault (pike) 7.6 7.8 7.5 1.9
TOTAL SCORE =
B D B DRSS TP oL
TOM Scores Used Sum of * Degree of
Name of dive ] 2 ) 3Scores x Difficulty = Final Score.
Inward dive (straight position) TT-078 8.1 1.7
Forward double somersault (pike) 84 8.6. 8.9 2.1
Reverse 1?/2 somersault (tuck) i Ve e i 4 2.0
TOTAL SCORE = |

CH
Sum

| ok

Back double

ALLENGER SCHOO

of Degree of Final
3 Scores Difficulty Score

Dive name

CHALLENGER Strioog

Diicmiis Sum of  Degree of Final

3 Scores D, I
Boviis fying Culty Score

2.0 s Somersault (tuck )
Someré’zgl:;r(lt;d&) 226 SFoorward double e 18 _
Inwar . 1.9 mersault (pike
somersglilrtié?elke) 24.1 Inward double h 2L 21
S :
fgnrm\z?:ault (tuck) 21.9 2 i s Omersault (pike) 998 2.6
TOTAL SCORE - T

TOTAL SCORE = _———
i MR S

Who had the highest final score?

\§

i
;




-Estimateeach quotient.

1. 37.16 + 8.7 o OIS PeL L=
(3, 14.6 + 6.8 S 4. 801 + 4
5. 515.3 + 56 6, 106.9 + 0.95
7. 2456 + 59 i 8; 16.42 + lsg,_,
9. 76.7 + 25 0T 0.03
11. 798.6 + 38.5 12. 42.8 + 6.7
13, 13.86 + 2.3 14, 62.1 + 5.8
15. 608.7 + 19 6. 361 = 122
Useé éstimaiion-to {S‘olve. <2

17. Lynne bought 12 golf balls for $14.98. Did each

ey
T

golf ball cost more than or less than $1.00?

18. The track team paid $179.50 for O sweatshits. o

About how much did each sweatshirt cost?

19. The soccer coach bought 5 packages of socks for $46.25.

Each package contained 3 pairs of socks. If he sells the

socks to his players for $3.00 a pair, will he lose money? Explain.




Divide. Continue dividing until the remainder is 0.

4. 8)52

8. 6)28.5

12. 65)240.5

1. 5)6.85 2. 3)13.68 3. 4)13

5. 3)15.39 6. 6)404.4 7. 5)10.95

9. 40)30 10. 15)61.65 11. 22)165

13. 1095 +75= _ 14. 127.35 + 45 =

15. 26.45 + 23 = 16. 425 +25=
1L 0194 = __ . - 18., 9.6417 + 3 =
Solve.

19. A 5-pound beef roast costs $9.45.
What is the price per pound?

20. Sliced turkey costs $4 per pound. How
many pounds do you get for $16.207

20



Find each quotuéﬂ%‘-..i—:r* i LL"“-w s e
)\,.“ 4 _)
1. 4502 2. 7)0.56 . /3 25601 ( 330/2
-~ | | U L TV
g i ¥ ndalic u dale eme 'Hf The (U
Bz 4218
. 11 T T
y \J v . S ]
6)0.096 6. 5)16.025 ,-{}4 7248 8. 41)84.05
o P
.// .-'/-/
, )
, “ ] | o 0l L_ff \/ /" ;"'.I"‘,
9. 65)2.405) 10. 3850155 . 225013 12. 25)2.15
13. 1275 275 =17 14. 3.35 + 50 =
- 15, 00135 = 15= 1 16. 18.585 ~ 9 = 009
Solve.

17. A 10.5-inch sausage is cut into.150 slices
of the same size. Is each slice greater ’ e 5
than or less than 0.1 inch thick? iy

18. A stack of 250 sheets of bakery tissue
paper is about 2.5 inches high. About
how thick |s each piece of tissue paper?

3
/ ~ £
— vl ]
' (B f
LN
~
/ 1/
LA ¥ A
-~ = |
) - /
o) {
e -
~L T |
o i
/3 l"“ '
-~ S

2



Divide. e
g 4QOJ5 +100= _\V* \\ ” \‘2‘2\5 + 1,000 =

A

U

3. 7,03 + 100 =

4, .Qj03 +10 = 0

5. 983,+ 100 = 0.1 . 6..809/+ 1,000 =
7. 4,518,+ 100 = 8. 75.41 10 =
0. 88.56 + 10 = _L_ 10. 0,009 + 10 =
11, 0,75 + 100 = 0.6071¢ 12,,0,57 + 100 =
13,73 + 1,000 = " — 14. 18,693, = 100 =
15,23 +100=_0dVL) 16. 38201 + 1,000 =
170,04 + 100= __ 00 18. 58.3 + 1,000 =
19, 752.1 + 10 = 15 20, 0.659 + 100 =
21. 657 + 10 = 22, 0.03 + 1,000 =
23. 502.3 + 100 = 24. 2,385 + 1,000 =
25.4.9 + 10 = 26. 0.8 + 100 =
Solve. |

Mrs. Hanna paid a total of $59.00 for 10 identical
strands of lights to use for a party. The 10 strands
contained 1,000 lights in all.

27. How much did each strand of lights cost?

28. How much did each light cost?



Find the average of each set of numbers.

s

B2 2888 2l = o

Solve each problem.

3.

The number of students in each homeroom

at Lincoln School is 37, 41, 34, 38, 33, and 36.
What is the average number of students in
each room?

The normal monthly precipitation in Baltimore,
given in inches, is shown below.

8.1.,.8 1:8:4.8.1- 3.7, 8.7,
3.7,3.9, 3.4,3.0,33,34

Find the average monthly precipitation.

. Shelly’s times, in seconds, for the 100-meter

dash were 21.2, 19.8, 22.1, 20.0, and 20.4.
What is her average time?

. Larry bought CDs for $12.98, $15.39, and $8.95.

What was the total amount he paid for the CDs?

. Ms. Kelstat bought milk four times last week.

She paid the following for each gallon:

$3.79, $3.53, $2.09 (on sale), $3.79.
What was the average price per gallon?

Jamie took five tests and had an average
score of 95.4. How many total points did
she earn?

2. 0.33,.0.25, 0.26, 0.32

20



Divide.
W F ) = .
AR & P04 e ,
A 0.6)87,, 2. 0.06)87,_, 3. 0.3)9, 4. 0.03)9
s L - |
] J . L '

5. 0:2)57 6. 0.8)10, 7. 0.09)18, 8. 0.04)13

9. 024)168._ _10.1.2J15 11. 0,61)61. _ 12. 0.35)98
7 -”’l ~ ;
i L QL _
cal 18. 771 = 0.2 Loty - o 14,861 +84 LU/ N
15. 364 + 0.56 €29 /) 16. 75 + 0.025 2000
Solve. Refer to the table. : Zle
17. How many $.33 stamps j RS : :
can you buy for $337 S5tambs Postal Rates for Letters
‘ : _1-ounce or less $.33
18. How many $.55 stamps | L Each additional ounce 22
can you buy for $227 2 [P
19. a. What is the cost to mail a 3-ounce letter?
b. How many 3-ounce letters can you mail for $87 ”’: i Here
Jr” ",l_“‘ii _f'i /



‘. C‘ () ;r-‘]\ s ',
| .- _ 2}
1. 07)6.3 2 0\950\]___8 3. 0.6)0.48 4, 0.8]1_._1}_‘-,»2
PN
!
5. 0.16)2.56 6. 0.36)0.288 7. 0.08)18 8. 1.4)13.86
9. 1.7)1054 10. 2.4)0.168 11. 0.07)0.035 12. 0.96)0.0192
13. 035+ 007 = 14. 0.2068 + 4.4 =

15. 0.015 + 005 = _____ 16. 13.76 = 3.2 =

17.0441 +63= __ 18. 0.0602 + 0.086 =
‘. Solve. e
; 19. Teri paid $3.06 for apples that cost $.68
N a pound. How many pounds of apples
did she buy? '

20. Lin bought 9.2 gallons of gasoline for
i $12.42 and paid for it with a $20 bill. What
; was the price of one gallon of gasoline?

21. Mr. Smith drove 381.9 miles in 8.5 hours.
What was the average number of miles
he drove each hour? Round your answer
to the nearest tenth of a mile.




THREE TIMES THE WORK

Mitch and Debbie are preparing to compete in a triathlon. Participants are required to swim, bike,
and run. It is considered a grueling test of fitness. Mitch has been jogging and Debbie has been
swimming to stay in shape, but they have decided to train in all three events to prepare for the
Cherokee Triathlon. Answer these questions about their training. (Remember: rate x time = distance;
distance ~ time = rate; and distance + rate = time.) Round to the nearest hundred.

1. For their training ride, Debbie and Mitch decided to cycle the 12.8
mile course at the City Park. Calculate their rates in miles per hour.
(First, change minutes to hours by dividing the minute time by 60.
Then divide the distance by the time to find the rate.)

Time Timein Hours  Distance = Rate (mph)
a. Debbie  26.4 min. ' 12.8 mi.
b. Mitch  25.7 min. ' 12.8 mi.

2. Next they went to the pool to check on their swimming rates. They decided
to swim 2000 m. (Change meters to miles by dividing by 1609.76.)

Time Timein Hours  Distance = Rate (mph)
a. Debbie  25.1 min. mi. \
b.Mitch  26.9 min. mi. = '

3. The mini-marathon course in their city measures 13.4 miles. Calculate

the rates for their running of this course based on their times. ik
Time Timein Hours  Distance = Rate (mph) '
a.Debbie 664 min. _ 134mi. "
b.Mitch  59.8 min. 13.4 mi.

4. On the day of the big race Debbie and Mitch had calculated the rates that they needed to
maintain in order to have what they felt was a respectable showing for their first triathlon.
Based on their rates, calculate what their time goals will be in each of the three events.

(Recall: Distance / Rate = Time)

Debbie’s Distance (mi.) / Rate (mph) = Time (hr.)
a. Swim 2.4 14.7

Cycle 112.0 26.4

Run 26:2 9.9
Mitch’s Distance (mi.) / Rate (mph) = Time (hr.)
b. Swim 2.4 15:3

Cycle 112.0 24.8

Run 26.2 11.6
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Review I -- Decimals NAME : [l (Cnag { Lalog (£ N 7)1
r‘/.‘\.‘ i " : ‘\a"‘
A\ Write in words. . . . | S (., "
\,i)l) 6.82751 S il R AN Ty Tunm [ous acvdnd  Sey b uwnred 1
Write as a decimal. e Ny e CYRLQ el 'S
2) Eighty-two and fourteen ten- thousandths L Loy
Compare. Use <, =, or >.
3) 8.2 7 8.167
Rewrite in order (least to greatest) n ¢ad lla O '
4) 0.958 / 0.598 / 0.96 / 0.9 Wy 78, U710 gcd

a0\ Sl |
W \

chund
5) 8 0273982 to the nearest ten-thousandth

Perform the indicated operations. . Show all work on separate paper.
6) 8.237 + 14.7 + 32 * .13 1217

) 846.8 + 12. 671 /\

8) 15.82 = 6.9 °

- 9) 120 - 44. 281 2571y .. o -
10) (2.16)(32.1)(8.1) . £1¢2%¢ | .
1R )2 (10032 [HOR 9)(0.C 2} NS & Py B L <
.R22) 3.685 + 5.5 . fE pi - eaduii s 28 T A
13) 0.38 + 0. 0004 A¢() o
14) 21.6 + 0.44/)(Round quotlent to. the nearest hundredth)
% ) {1 n -~
15) Paolo earns $209.92 each week. The following deductions are /Off
subtracted from his pay: federal income tax, $18.95: ~13.9%5

state tax, $7.50; Social Security, $13.23: medical 1nsurance, (70472

$10.12. How much does Paolo take home each week? ¢/ .!f
16) Paula earns $250 a week. If she works 35 hour each wéek what' 9 &
is her hourly rate of pay? 7J<;m ‘J@J)Z>
17 7 1000’ 72708/ X) 220000 | NULE
) 18) \ 10, ooo?x\) oﬁqw N 0O 44 T ~ 16.17
722 29) o 6 100, 000¢ ) ™0 U7 4 SO e
: 7 20) &’ﬁloo 05 5.0 « i e
"/P - o)) - .f-‘-—
U Xy Laprypesab e 4”””‘”””9J, !
2. Z2) 7 4) 7z r) Iz 00
8 1)\ te z%':wv/ﬂ/VVQX Noddl102.

e i >g ) /2 100, 000,007
0/) J' 200, 000



Review I -- Word Problems

For each problem: identify the “important” facts

b

identify the operation(s)
write the # problem
solve the # problem
label the answer

The O’Connor family drove from their house to their aunt’s house for
afamily dinner. They checked their odometer before they left on the
trip (it read 27,854.7). When they arrived at their aunt’s 7 hours

| later itread 28,306.2. What was their average speed in miles per
A S 9 P A9 =
Hour: | 220 921 9607
2 )i ' e | = pasIre [ 16,8 06
(283062 07 S5y 5 ) >y F20E4S | :
/ | &\ 1 ~—  ———
CY.Q /] H\{ /‘6 .
Goal {- )

A scale model of a train has an engine that is 1 6.8 Cm lof-lgéind 9 cars
that are each 12.3 ¢im long. Each centimeter 6irthe model represents

( x/% ,O_l@nn the actual train./_‘_{H_‘qw long is the actual train?

| L]
. _ . e !7}- - ! f ) 0

- : | ! ]

— ) \ L : fod

7 ™ 5 { : ,’;) )14
ngg | (97‘)!!})}"1 ?} i' ‘27
0 = L ,O_J SIS
~L7g2S | g8 g1
When I make coffee, I like a mixed blend. bought three different
kinds of coffee beans. Type A costs $4.20 a pound and I bought 2
pounds. Type B costs $3.85 a pound and I bought 1 pound. Type C

((2) costs $4.95 a pound and I bought 2 pounds. What was the average
' cost per pound of my coffee blend? 4G

—
* La
19 |
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Review II -- Decimals NAME : [ A/
é%@wﬂaé

o —

Write in words. \ l _ o T :
l) 12-0098 ] ]\f'tlf"\,‘t” '/‘"f\ (‘{.-a%“- ‘f'\)[""-f“-_. '["'ﬁ 1 ..'- QO (/ . A ne
T .

Write as a decimal. —_
2) Three and fourteen millionths OO0ON 1Y

Compare. Use <, =, Or >.
3) 14.6 <, 14.82 4) 7.8 — 7.80000

Round: - ) /’ “‘\
5) 9.0837 to the (.0J 6) 8.9523 tothe o (] | )

nearest hundredth nearest tenth >
Bl s if

Rewrite in order (least to greatest) Y A e Eoepid s 2~ A
7) - 3.3 JF 3.08/ 33.03 ./ 3.033 I 3033 5.9/ 95602
|

Perform the indicated operation. Show all work on separate paper.
BJ 12.13 + 1:109 3£19 % i 45 1134 1979° G
;» 9) 567.8 + 12.345+ ) i T Mg hd g
10) .45.73 - 8.8 3( 13 i
11) '150.= 35.72 H”‘””
2] (1:290012.3)( 1.2 |
13) (0.075)(0. 8)(0. 05) LT?
14) 5.412 = 4.4 Lr= by
.~ 15) 0.015 = 0.0012 [y« “Derind |
’ N5) 32.6 = O.47’ﬂ112(Round quotient to the nearest thousandth)
/ _
;Z) Janice had $285.35 at the beginning of the month. During the
; month she made purchases of $17.89, $26.90, $116.35, and $15.82.
She also earned an additional $58.16. How much money did

Janice have at the end of the month? ﬁ',,
f (

VAKX

y ) A job is advertised at a yearly salary of $32,800. If ther e
are 245 working days a year, what is the dally Late to the
nearest cent? a j ’ ~133:077 93429 oo

: S XA L s Ueldd

19) 0.089,x 10,000 {50 e
20) b A6 + 1000 () 00y =S
3.9%) . ATj% 100 (70
©22),0.8" + 100,000 ¢ Ve

ol g~
25) /‘/JJ s j d’ ‘;/1/77 42 J
) 5% Af

24/) W 2e ¢ 4{77//(' ﬂ//é/zé%
42) 5’cﬁﬂa \'9
S~ 4 ) FS, Vo0, 202, 002, &oo B



Review II -- Word Problems

For each probiem:  identify the “important” facts
identify the operation(s)
write the # problem
solve the # problem
label the answer

1) The Martins rented a condominium about 3 blocks from the beach

for $125.25 per night. They stayed 8 nights. If they paid a $500

vj } deposf_how much do they still owe for the condominium?

)4
~ 1

A 0 & [
LUe "~/ 1
|

'2) A scale model of a tram has an engine that is 15.8'cm long and 8 cars‘

that are each 12.9 cimlong. Each centimeter on the model represents
‘) 0.9 m on the actu?ﬂ train. How Iono is the actual tram'?

)'s

3) Daphne bought 4 paintbrushes at $4.85 each, an. easel for $27. and 7
tubes of paint at $2.72 each. How much money did she spend
altogether‘? S 'O ya

K? Ral
’ / Vil /S / | i ¥ (
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Review I -- decimals
Answers

1) six and eighty-two thousand
seven hundred fifty-one
hundred-thousandths

2) 82,.00/4

>
4) 0598 09 0958 096
5) 8.0274
6) 176.057
7) 859.471
8) 892
9) 75.719
10) 561.6216
11) 0.000576
12) .67
13) 950
14) 49.09  (49.0909...)
15) $160.12
16) $7.14  (7.142857...)
17) 7270
18) 0.000098
19) 64,000
20) 0.009 = -
21) a) 0.875 b) 0.916 c) 3.7
22) a) 1.21 x 1010
b) 3.2x 106

1) 64.5 mph
2) 89.25m
3) $4.43 per pound




Review II -- decimals
Answers

1) Twelve and ninty-eight
ten-thousandths

2) 3.000014

3=

4) =

5) 9.08

6) 9.0

1) 8033033 33 3303

8) 1773524

9) 580.145

10) 36.93

11) 114.28

12) 18.1548

13) 0.003

14) 1.23

15)-42.5

16) 69.362

17) $166.55

18) $133.88 (133.877551...)

19) 890

20) 0.0046

21)-170

22) 0.000008

23) a) 0.6875 b) 0.7916 c¢) 4.73

24) a) 6.5x10° b) 3.8x 103

1) $502
2) 107.1m
3) $65.44
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write in words. {U "

1) 9.0012 , _ale o Yon* My ca /bt

2) 0.06725 . ¢ iy thagband adce /1

Write as a decimal. @

3) Twelve and four hundred two thousandths J:/{:"‘
4) Eleven millionths \\//;J
Compare. Use <, =, or »>. fiop 1ot
5y 12.4 2 12.398 v 4
6) 8.887 __2  8.898 N

-

R - )

ound ﬂi ¥ ¥

7) 4.qg3 to the nearest tenth ' \ ‘ﬁ///

8) lZ.OBOkl to the nearest thousandth \ y4i ) $7)

L

Perform the indicated operation. Show work on separate paper.
9) 9.453 + 15.2 + 45 + 0.0089 9. ’
10) 1.001 + 0.001 + 0.1 + 0.0001)+ 10 | 11021/
11) 71.24 - 15.8 ;

12) 170 - 63.765

[ 713)3 (3.12)(31.2)(0.05) ‘e
14)  (0.78)(0.5)(0.04) K. DS

J15) 10.79 + 2.6 q
16) 0.00324 + 1.2 0.0
17) 049094 x 1000 | n 9y
18) , 0.0094 + 1000 | 0888606
19) 1,7 + 100 | 0.0
20) 1.7 x 100 \ N7



p 3],
Chris earns 3350 a week. If ne works 38 hours HE' ;Zki/
each week, what is his hourly rate of pay? v =T
Jackie had $300 at the beginning of the month ije/({
During the month she made purchases of $18.22, \ ﬁibu

$27.95, $S112.16, and $16.50. She also earned
an additional $74.83. How much money did Jackie
have at the end of the month?

Answer the following:

23)

How is subtraction of decimals similar to subtraction of
whole numbers? iflow is it different?

similar --
g )
dlfferent\--

Exglain whffwe“éef "3.112 when we divide 14.3152 Dby 4.6
' ‘ - \ £ )4,:9'6 Y. 6

\‘i"" \ 7' g < ‘. 3 / ‘f '!',’ ] v l'!_ [ !‘ ‘
Make up a problem that show one of the concepts we "learned"

1n thlS unlt

k/, \ . - A S \ x

(W
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Round each traction to 0 or 1.

?
L

1.3 \% 2%__ 3. > 4 5=
5. 45 ) . 6. = ' .3 L 8. 28
Round each mixed number to the nearest whole number.

9. 25 fofag 2™ M. 45 12,13

13. 3-% 14. 72 16025 e 16. 52

17. 8% - 1% 18. 2+ 2

19.2+3% 20. 23 +31

21. 51 — 233 22. -1

23. 65 + 1% 24, = - £ .
25.310+55 26. 2+

27. 4% -1 28. 33 +2%

Solve.

29. Cal had 82 g yards of fabric. He used 6 yards to
reupholster a chair. About how much fabrlc does he have left?

30. Luisa has 3-,15 cups of apple juice and 2% cups of
cherry cider. About how much fruit drink can she make?




Fractional & Mixed Numerals

WHICH WINTER WEAR?

Maria is making choices about clothing for winter skiing and mountain-climbing adventures. She’s
comparing winter gear in several catalogs. Read and answer the questions below about the clothing
she is considering buying.

4.

. The ski pants Maria wants are $89 in the Outdoor Outlet Catalog. The

. The Winter Wear catalog does one-third the business that the Outdoor

1. In a clothing catalog the new Mountain Parkas boast that they are
65% polyester. Write this percent as a fraction.

2. The 3-layer parka is advertised as the warmest. All three layers are
of equal weight. One of the layers is 100% wool. No other layers
contain wool. What fraction shows how much of the jacket is wool?

3. When Maria called the catalog center she was told that over 365
of the parkas were sold. If they originally had 500 parkas, what
fraction would show how many were sold?

The Gore-Tex Squall that sells for $295 is compared to other
squalls that cost $500. Write a fraction that compares the
inexpensive squall to the expensive squall.

One woman’s parka is two and three-fourths times the cost
of a similar one in another catalog. Write the mixed numeral
represented by these words.

The ski club asked Maria to order pullovers for everyone.
There are 10 members of the club, and 7 of them wanted green pullovers.
Write a fraction to represent the number that wanted green pullovers.

7. The quilted, goose down vest is advertised to be 98% waterproof.
What fraction does this percent represent?

8. Leather gloves come in the following sizes: eight and one-half, nine and
one-half, and ten and one-half. Write these three sizes as mixed numerals.

9. The ear bands come in the following colors: navy, evergreen, garnet, and
black. The catalog company stocked 200 of each color. If 77 are left,
what fraction of the ear bands have been sold?

. In the 233-page catalog, 10 pages are devoted to outerwear. Write a fraction that

compares the number of outerwear pages to the entire catalog.

same pants are $108 in another catalog. Write a fraction that shows the
comparison of the more expensive to the less expensive pants.

Adventurer does. Write a fraction showing the comparison of the
Outdoor Adventurer to Winter Wear.




Compare & Order Fractions

HIGH-SPEED SPORTING

Bobsledding is a fast and dangerous winter sport. It's also one of the most thrilling. The sleds are
made of aluminum and steel, and they travel up to 90 miles per hour. The length of each sled
cannot exceed 12%5 feet.

1 Plaﬁe the sleds in order by their length List these sleds from
Iongest to shortest.

United States’ sled 117 fegft (

Jamaica’s sled 1214 feet

Switzerland’s sled 1184 feet -
Canada’s sled 1215 feé‘t
Russia’s sled 11V feet [

‘ 2. The total weight allowed on a bobsled (including the crew) is
o™ \ ) 1,389 pounds. Place these sleds in order by their weight,
' A8 listing them from the lightest to the heaviest.
United States 1,333Y%4 Ibs.
Jamaica 1,386Y3 Ibs.
Switzerland 1,386%4 Ibs.
Canada 1,38614% lbs.
Russia 1,333% Ibs.

3. Championship bobsled races consist of four heats. The team with the
lowest composite (total) score wins. Total the following heats and circle
the winning team.

United States 2V% minutes, 3 minutes, 3%4 minutes, and 2V minutes
Jamaica 214 minutes, 212 minutes, 3%2 minutes, and 212 minutes
Switzerland 214 minutes, 2 minutes, 22 minutes, and 3 minutes

PN Canada 2 minutes, 2V4 minutes, 2 minutes, and 213 minutes

Russia 23/ minutes, 2V minutes, 2/2 minutes, and 3 minutes




% Comparing fractions NAME

How many months have 28 days?

DIRECTIONS: By finding a common denominator for a pair'
of fractions, you can determine which one is the greatest.
Study this example:

E Which is the greatest —%— or %?

3@ "
i 3 aan e

uad 9

7 L o T )
Therefore 3 is greater than 2 by a1
e 3 12 °

Find the greater fraction in each of the pairs below. Each time your answer occurs in the decoder,
write the letter of the problem above it.

i O 2% g T J
1 3 oREEn: = E 6. =Tl Ofiy ks = s
i B A 2 i
\?x > o & = F 7 5 i Bk H
i 7 g
T B e S & + o £ = D
/ :
o 35 PR o e R R Ty < I e R S
4 & or & = 9 L 9. 4 o & - M
4 2
5 - or = N =5 By e
5 3 10. g of = A
1l %— or -g— = 0
ST R 7 e fiblee o
7 9 9 9 8 6 4 3
, _ i
8 4 4 5 2 3 ik a4
6 9 5 6 4 6 3 9




i . Convert Mixed Numerals & Fractions

[\
[ \

Sl ) '
{5 : : . }
.~ HOMEWORK FIRST
You’ve got your roller blades over your shoulder and are ready to go out the door, when your

mom yells, “You have to do your homework first.” Quickly finish these fraction problems
about skating time.

I. Each improper fraction gives a II. Each mixed numeral gives
time that one skater spent on an amount of time that
roller blades for the past 10 days. you've spent skating in the
Rewrite each improper fraction last 10 days. Rewrite each
as a whole number or a mixed mixed numeral as an
numeral in simplest form. improper fraction.
| e
1. 5% hrs. j 2 dI £ 11; "1 andVihrs. — L{S
5, i) Z ’
2. 8hrs. ) - (¢ 12. 1and 34 hrs.
3. Bihrs. 2y W 13. 2and Vahrs.
4 Wghrs. |~ et 14. 2and ¥ hrs.
5. 93 hrs. = W< 15. 2and4shrs.
6 16 4 and 5 hrs.
7 717, TandViohE < -
8 18. 1 and %9 hrs. ____/___‘ N /
19. 3and Vig hrs. -
20. 2and 73 hrs. _/




Identify Equivalent Fractions

il

TOP 10 QUESTIONS

Here are 10 top questions about some top 10 topics in sports. You’ll need to be in top shape with
your understanding of equivalent fractions to answer these correctly. Choose your answers from
the fractions sprinkled around the page.

/

1.

l

-

4

Of the 10 most common sports injuries, 6 are specific to legs and knees.
What fraction is equivalent to this ratio of 6/9? Y

5 of the 10 highest-earning sports mowes feature boxing. Which fraction

s equivalent to this ratio?____— - O\

./

SO

Over 40 million households watched Super Bowl XVI, the biggest TV

- /{\\ audience ever for a sports event through 1996. Of the top 10 most-
/. ‘watched sporting events, 8 others were Super Bowls. What Afractmn

shows the ratio of Super Bowls to the total of 10? S

-4 Riots, stampedes, crushes, collapsed stands, and fires at soccer games

5.
N

t

5

8
/1
9.

10.

“ake up 7 of the top 10 worst disasters at sports events in the 20th
century. What fraction shows the ratio of r disasters to soccer
disasters? /’.*-x - & /20

A]

In the 10 worst disasters at sports events, about 1900 people were killed.

' Approximately 1000 of these dea)ths happer;gd at soccer events. What

fraction shows this ratio? __ 1.,

The top 10 Olympic medal—wmnmg countries in bobsledding have won a
total of 90 medals. Switzerland holds 25 of these. What fractlon shows -
the ratio of Switzerland’s medals to the total?_._ : R )

U.S. Figure skater Kristi Yamaguchi, one of the top 10 world and
Olympic title holders for women, holds 3 titles. Katarina Witt holds 6
Sonja Heine is number one with 13.

a. What fraction shows the ratio of Kristi’s to Katarina’s titles? "

b. What fraction shows the ratio of Kristi’s to Sonja’s? 72 ’:'f

?
_,ll :

. In the list of top 10 winners of the World Series, the NY Yankees are first

with 22 wins. The Boston Red Sox are #5 with 5 wins. What fraction
shows the ratio of Boston to NY? -/ ) ~J /"‘ :

In the list of the top 10 Olympic medal-winning countries, the U.S. at #
1 has over 1900. The USSR/CIS has over 1100. What fraction shows the
U.S. to USSR/CIS ratio? _ 11,

Of the top 10 highest-paid sportsmen in the world in 1995, 2 were
basketball players. What fraction shows the ratio of basketball players to

Al

non-basketball sportsmen? .'/\ ) i




4 \ p VA Fractions in Lowest Terms

WEIGHING IN!

Many athletes have to pay attention to their weight to participate in athletics. Some athletes, such
as football players, wrestlers, or fighters, may wish to increase weight. In many cases, athletes are
trying to reduce their weight. These fractions are a bit “weighty.” They need reducing. In each case,

reduce them to their lowest terms.
A\

e ———————

4 ) 1 — 21, 143

2. 1Z4gf _ U 12. 6 u 22. 64 27

MW B ¥
\ \z A

4. 150 _ 9 14, % / 24, 254y -

5. ¥f = 15 Sy | 25. 305 -
== s g

R R 16. 1045 /f\ 26. 5%00 y

7. %oy o 17. %5 T T e
_-_L,l_.— \ i\// m ;ﬁ-) _é‘l‘,.

8. 15 _5 18. 3246 9 28, 1349 ()3

9. 3942 19 2% ST Y6 L o0 2905 906 10
M .2 ) , GF

10. %4 ! 20.)\_1%’21 £ f 30. 43 /

Reduced or Not Reduced? That is the question.

Circle all the fractions that are reduced to lowest terms. If a fraction is not reduced to lowest
terms, reduce it and write your answer beside the fraction.

31, %f '; \\ 23, - - 6. 32 __
= | g 21|\ [=5 Al |22 <

26

j

5¢ /(|| &3 23 2\ 5 23

\
\




Find each sum in simplest form.

i il 5 5

1. > 2. 15 3. 5 4. 6

3 3 1 1

A e Jar e

5 3 T 3

6. 9 7. Z 8. 15 9. 2

> 2 1 i

i it alch g [

2 2 3 4

11. 9 12. 9 13. 5 14, 5

1 1 8 i

& 6 53 5 " 10 + 3

2 1 7 3

16. 3 17: 12 18. 9 19. 7

1 1) 1 2

s e s s
Solve.

21. Lisa spends % of an hour doing her math homework and % of an
hour doing her social studies homework. What fraction of an hour
does she spend doing her math and social studies homework?

20; Cllnt rode his blke mile to the library and then
Z mile to the park. How far did he ride altogether?

+
[GILSES I

+
ol w|=

+
Ic.:|m Slon

+
ojg o=



Ldd. Write the sum in simplest form. X it

1.

13.

17.

18.

1 2 20 | \
133 2. 73 3. 953 ( 4, 6
3 2 1
+ Sg . + 1 + 14 + 142
16 13
4 6. 399 7. 1095 8 =
5 13 S
+ 937 +7 + 435 + 1655
1 1 1 j‘4
6= 10. 155 11. 104 [ 12 A5 -
9= + 174 +732 “Z 32
Y, 6
10 3 4 4
kT 14. 11 15. 113 16. 1655
3 13 13
+5 + 161 + 2'1— + SE
_‘ \"“..
Stephanle used 2 feet of ribbon to trim a pillowcase and

5 feet of ribbon to trim a quilt. How much ribbon did she use in all?

A recnpe calls for 1 cups of cheddar cheese
g2 3 cups of Monterey jack cheese, and 1 cups of
mozzarella cheese. How much cheese is used in the recipe?



Find each difference in simplest form.

3 6 8 B 3
p 8 24 s 3. 3 1+ 20 5. 5
i & —2 o 2 S e il
8 8 3 20 2
2 \
< %
1 4 AP 3 7
6 5 e 55 (8/ 14 9 3 10 B
g ) etz ils e Sk ==l
i _6 o4 3 L
2 /49 ) 2 7 S 2 S
it. & (\12/'/‘ 5 13. 5 14. 3 15. 335
5 1 e 2 2 _3
10 4 3 5 4
Solve. .
(IG Josy exercised = of an hour on Monday and = of an hour u b ['
’ _>~_on Tuesday. How much longer did she exermse on Monday? N Q9 an N/
17. Larry, M.ary, and Sara.share a p.izza. The fraction Fraction of the Plzza Eaten
of the pizza each ate is shown in the table at the :
right. Which two children were closest in the fraction Larry €
they ate? 3
Mary 3
11
Sara o
L __—




i-ename each number. \"

t4 okl 1 _ .4 3 _ el
i. 8=T7% 2.48—3“_.8 3. 55 = 4=
s G -
4.35—2—9—‘ 5.5—412- G'QE_BT
Subtract. Write each difference in simplest form.
7. 4 8. 67 9. 5% 10. 7
2 3 4 _ 44
. = ~ %5 43
2 [0
1. 33 12, 8 13. 6 14. 9
6 .8 5 1
- 17 =0 - 43 —25
1 - 3
15. 4§ 16.  12- 17. 5§ 18. d
3 _ a3 _ ol _3
- 13 32 2£ > .
2 74 oA~ 4L — 12 = J 7 D
19. 6-§—3§— 20: 412 112— = 21. 3 25—
Solve.

22, Caitlin buys 3 pounds of peanuts. She uses ‘I% pounds to make
some trail mix. How many pounds of peanuts does she have left?

23. Brad rode his bike 4% miles. Then he ran
2-19—0 miles. How much farther did he ride than run?



Find each ditfterence in simplest form.

- 2 i 1 3 ¢
T 2." 5f55 < 4. B &
a2 ol g s ik
43 E 1275 438 295
=, Ll .
L) _T() ‘.«
S A 1¢ e 3 Gt
B8 /6. 103 7. 93 \8. 123 &
SR Y] 41 405 Mo
432 4% 15 83 >
e : [ ~dL V=7
| 3 K20
Ll . iL | i 4 2 v
9 5 @0. '.7910 | 11 113 5 12. g
24 _|48 -
% &5 “XE % 118 15 /»
| ) ‘ 5 “t
1 C | 9
13. 104 (1a. 84”7 15, 21 6. 123 o
) D ‘:\ 7 - | 2 G_ 4 -
14 ) 1 0 = H‘E s
_1ﬁ ___1_5;‘ ; 1\1 57 23
| e e \ 7 IR
ool 8. 1012 7 5 el
170 7¢ E' 105 19. 1033 2\0' 1537
_o5 _18 1 Bl i S v
| =12 13 7 43 145

q = | / 7

of the cookies were sold. How many dozen cookies were left over?




‘GJ'\

Solve each problem.

i,

A

/ N ¥ (Y
- are neither dogs nor cats? '  An'f

/
/" 3. Atl a school music festival, Julia played saxophone

%

(7,

- singers? How much more? \

/
4.

/5.

6.

2

R

Toni has an art class for 1% hours every Thursday.
She was late to class this Thursday and was in class:

for —g— of an hour. How late was she to art class?

t At Paul's Pet Palace, 16 of the animals are dogs and

24 of the animals are cats. What fraction of the animals — o4 i,,‘

for 2 hours, Carollne sang for 1 hours, Lamont played
saxophone for 1 hours, and Taylor sang for 2¢ S hours.
" Who had more tlme the saxophone players or the

Steve bought 2% pounds of broccoli, 1l pounds of
splnach and g pound of carrots He also bought

ol > pounds of apples and 2 pounds of oranges. Did

he buy more fruit or more vegetables'? How much more?

To get to school, Harley traveled -g mile along
Arlington Avenue, then another % mile along Forest
Street. How long is his trip?

During a trip, Steve drove ;1- of the time, Chris drove
% of the time, and Doris drove the rest of the time.
What fraction of the time did Doris drive?

Paolo noticed that Channel 8 devoted hour to a news
story and Channel 12 devoted ~ g hour to the same story.
Which channel devoted more tlme’? How much more time?
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Adding and subtracting mixed numerals with regrouping NAME

What does an elf do after school? 7

DIRECTIONS: First, solve each of the word problems
on another sheet of paper. Second, find your answer
in the secret code. Third, each time your answer
appears in the secret code, write the letter of the
problem above it. .

1. John hiked 1-;— hours on Monday, 2 -%— hours

on Tuesday and 1 = hours on Wednesday.

How many total hours did John hike? =R

2. If a cake recipe called for 1 3~ Cups of flour, 32

and Kim had only -z~ B cup of flour, how much more

flour did she need? - =M

If Ben’s family drinks -5- 3 gallons of milk on Wednesday, 1 3 gallons on Thursday, < gallons
gallons on Friday, and gallon Saturday, how many gallons of milk did Ben’s famlly drink.in
\

T

all? =N ﬁ'i_ o Ty (2 ;j{ T s ';/
4. Gary’s ant farm can hold 2 -%— cups of sand. On Thursday Gary used %oups of sand in his

ant farm. On Friday he added -.% cups more of sand. How much more sand will his ant farm
famhold? __ =W (%% .5 7 / |
5. Robert’s family made 6 - pounds of potato salad for” é communlty picnic.. Only 3 =5~ pounds

were eaten. How many pounds of potato salad were left? / =K L{ i i

‘ ”8) Kevin rode his bike 1 T miles on Monday, 2 6 miles on Wednesday, and 3 -15- miles on

' on Friday. How many total miles did he ride? /= = E 4 Y .f _-)’{ ,
7T Katle practiced piano for 47 hours during spring break. The followung week she practlced
/,) 2 3 hours. How many more hours d:d she praotlcs/ during spring break? ¥= Jl Ie/,
X Chris watched television for 2 houfs on Saturday, 1 hour on Monday, 1% ; hours on Tuesday,
1 hour on Wednesday, ‘33 hour on Thursday, 2 hour on Frlday, and 2 — hours on\z 3
Saturday. How many total hours did Chris watch television? L =G -\" e P
/ ,. 7 ‘ =k ‘1 :
fe N ol B W b {5 52
T S S R e



Add & Subtract Fractions

FRIDAY NIGHT FOOTBALL

“East Middle School’s football team is getting beaten badly by Franklin Middle School. The score is
42 to 10. Sherry and Elizabeth are bored with the game, but they have to stay until their older
brother comes to pick them up. Maybe the time will go faster if they try to figure out the answers
to these dilemmas. (Use the sketch of a football field on page 127 to help you solve problems.) Give
your answers in fractions, whole numbers, or mixed numerals.

[ 1,/ The first field goal East Middle School makes is 2¥/4 minutes into the first
" quarter. If the clock starts counting down at 12 minutes, how much time
A b is left on the clock when this field goal is scored?

£ ‘2. The second quarter starts and the clock is reset to 12 minutes. Franklin’s—_

\ first touchdown is made 314 minutes into the quarter. Another touchdown
is made 5% minutes later. How much time is left in the second quarter
~ when the second touch down is scored?

[ 3. East scores their final touchdown 1% minutes into the third quarter. If
the clock is reset to 12 at the beginning of each quarter, how many
minutes are left after the East touchdown?

‘4. Franklin Middle School gains the following yards during one of their
periods of possession: 124 yards, 9V4 yards, 32¥% yards, 2 yards, and 25V
yards. How many yards are gained by Franklin Middle School?

5. East Middle School has possession of the ball on the 50-yard line. The
. | team gains 11V4 yards. In the next play the ball is intercepted by Franklin’s
L€l MALS @< team and they run the ball 3334 yards towards their goal. Where is the ball

placed for the next play? Is it closer to Franklin’s or East’s goal? (Use the
football field sketch to help with this problem.)

6. The sportswriter for the East School newspaper is writing an article for the

paper. He is highlighting the players listed below. To help the sportswriter,
/_m use the information in the chart below and total the players’ yards gained.

Yards Gained
Lightning Larry 12%; yds.  7Va yds. 2 yds. L 2 total
Cool-Kick Kerry .7 yds. 2V yds. 414 yds. ] total
Jumpin’ Joe 33V yds. | 2% yds. 10 yds. 16 total
Speedy Sam 23 yds. K 30z yds. 4% yds. \ total

\

\

S




Add & Subtract Fractions

Use with page 126.

o
10
[ 20
50
L 40
s0
40
L 30
20
L 10
0

~ TERRITORY

2 FRANKLIN'S )\

' 7. Brad is over at the concession stand. He needs a hot dog, chips, and a drink;
he has $3. Does Brad have enough money to buy a hot dog (a dollar and a
. half), a bag of chips (a half dollar), and a drink (three-quarters of a dollar)?

/8. East is close to a touchdown in the first half. They have the ball 415 yards

\ back from their goal line. Franklin intercepts the ball and runs 4334 yards ==
in'the other direction. How far back from East’s goal line is the ball now?

9. Bored Elizabeth, watching the clock, notices that there are 3 minutes and

\___ 50 seconds left in the third quarter (3% minutes). If each quarter is 12

minutes, how much time has already passed in the third quarter?

") 4 ’_j L"L‘ \
- ( [ ‘ /10 Sherry ate supper at 5:20. She looks at her watch and realizes that was 3
- and V6 hours ago. What time is it now?
@. Elizabeth is so tired. She plans to be in bed in 213 hours. That will be
‘ \ 11:30 p.M. What time is it now?
G
B2 12/ In the last quarter, Franklin runs the ball from East’s 40 yard line to a

/ p051t10n just 614 yards back from their own goal line. How far do they
move the ball on this play?

@ The biggest play of the game is a pass and a great run following it. James
- Johnston throws the ball from the 10 yard line of East. It is caught by Tom
Jacobs at East’s 3214 yard line. He then runs to Franklin’s 13%4 yard line.
How far does the ball travel on that play?

(14. Sherry and Elizabeth wait for their brother 34 of an hour past the time -_
N
when he was supposed to pick them up. If he was supposed to come at
quarter past nine, when did he arrive? o




Find each product in simplest form.

LgXg= 2. 2 x & =
4%V%;7'- )\ 5_2)(%:

=
7.9%3 " 6. 2x45 o
10. 1 x % = 1. 1x2=
13.£x ¢ = 14, L x 2=
%6-4X%.«= 1 17.—12—><%=
19, 11 x - = 20, Ex2="3
22, I x3= 23. 3x 1=
25, 12 x =% = 26. 2 x % =
Solve.

/2; \T/he total weight of all of the insects in the
world is about l billion tons. The total
weight of all humans is about = of this amount.
Find the total weight of all humans

29. A recipe for granola bars calls for % cup of
oats. How much of the oats would you use
to make of the amount in the original recipe?

al=

ol

m|;

|~
_l.lm

o=
X
w|—=

-y
-

0|~
X

e Y
~

X
0|~

n|—

(S][N)
X
|~




thultiply. Simrlify each product.

S Ao
1.10x§— 2.12><2—
e D ) ) 11 { w
@G- T (1 saxg- o
1 \ : ¥ I S
2 £2.9
d. =6 (8. 5X9=
4 = o < o
10.9x 2 = 11.8><§=
< 3 2
13.12X§— 14.4X6—
- 2 N i ’ i—-
16..—§x12— 17. 2 X T
8. a3 L | =
19 3><§— 20.10><5-—
22, 2% 9= 23. 6 X 3=
Solve.

25. Amal’s bones make up about 35— of his body weight.
He weighs 140 pounds. How many pounds do his
bones weigh?

26. Jessica bought a 5-gallon can of paint. After

painting her room, —g— of the paint was left. How many
gallons of paint did she use?

12,
15,
18.

21.

I



iviultiply. $iniplify each product.

S
1. 32&2

Solve.

25. A certain granola cereal has 240 calories in
each 1 cup serving. How many calories are
in a serving of 11 cups of the cereal?

/26.) | Samantha earns $18 per hour. How much

W|II she earn if she works for 12 hours?

\

| |




Multiply Mixed Numerals

THAT FISH WAS HOW BIG?

Brianna, Nan, Simon, and Jason went on a fishing trip to Lake Pardenpu. While there they decided
to keep a record of the biggest fish that they could catch. Since the four friends were not going to
stuff, clean, or eat what they caught, they planned to measure the length of their catch, then
return them to the lake. To determine the weight of the fish that they caught they asked a state
naturalist to tell them how much the big fish would weigh on average in ounces per inch.

The state naturalist gave them the following information about the fish in Lake Pardenpu.
Name of fish Typical lengths in inches Weight in ounces per inch

Bass, Smallmouth 15-25 o 51546 TH s 2
Bluegill Sunfish 8157 ", 8 = 43~ 1.9 L b
Bowfin LEET ot A RO T g il
Catfish, flathead . - 15585 —— ., 'xq 0161462
Crappie, white w“” 1A% : '__1 “51 934 b
Walleye 22+ — UL < 18-36 T ST 845 -

., .\

For example: If Brlarma caught a 104 inch bluegill sunﬁsh she would calculate its welght as 103/2 =3
inches times 434 ounces per inch = 4974 ounces 8

Usmg the 1nf0rmat10n in the chart above, calculate the welght of e{ h fish caught

Y% ¢
BASS © D78 ——
( BLUEGILL = 104"
YCRAPPIE = oL

///////

 Bhss— 148

" @)) (BOWEIN — 273 ;
_XCRAPPIE - |4._g_'

-

o\
o



Multiply Mixed Numerals

WHAT’S COOKIN" ON THE CAMPFIRE?

A group of guys packed up for a weekend campout. They put Evan in charge of the food. He brought
a recipe book that belonged to a cook at a camp. But there was a problem. The cook wrote these
recipes when he was cooking in the military, so the recipes make enough food to feed an army.
Reduce his recipes to the quantities listed. A group of only (@pampers will be going on the campout.

Warm \;%ug UP CHILI Chili for Ten

20
10172 pou_nd Of,hamburger ‘
2 1/3 onions | ¢
5 1/4 pound of tomatoes ~ ©
6 3/4 T of chili powder ¢
6 1/2 cans of tomato sauoéx
4 1/2 cans of beans /. :
e
K WOODS \
PBOaT%TO saLap FOR 30 ~
9 1/2 Ib. of potatoes -
3 Ib. of onions |
& 212 1. ofcelery /| |
12 1/3 ounces of pickle relish
12 eggs | T
4 1/2 cups of mayonnaise
1/2 c. of mustard -
21/2T.ofsalt "¢
1 3/4 T. of pepper
3/4 T of paprika

Potate Salad for Ten

—

CRUNCHY A :
FOR PPLE CRiSP

3 1/4 pound of brown sugar -
8 1/3 cups of oatmea Ve
2 1/4 Ib. of butter |

2172 T of cinnamop /-
13/4t of nutmeg r

2\



Write the reciprocal of each number.

e .
g Pt N 2. 5=
P J__ 1‘_‘; ,_L’j) 1é 2
:/\41 25="_ra) /),\,{{),\ 5.4= 1
ﬁmde Simplify each quotient.
7'.'[_;!.7-r 7 (’_?.3:_
L oky Ve SRS fugld
10._2'75_:;— : .7 1.4+ 75
gl T ovghe
¢ L&
_16.‘ 10 + § s 17. 6 + 5
i
19. 12 + 5 = ‘2Q'§T' =i
g e gl b
22.- B 23_.8.3—
g gl 8
26.3+3= 26. 6+ 3 =

Solve

28 A baby walrus is 4 feet long. Thisis 2 of the length of
“an adult male. What is the Iength of an adult male walrus?

29. One yard (36 inches) is equal to 57 of a rod. How many

inches are in a rod?

2l



Divide. Write each cuctient in simplest form.
: g gou 5 .1 LT
- 1. 5+ S 2, >+ =7
i VR | | S 2 TR <

5. 9% B gl B A2
A2 +5T 50 5.+ 3% <

)
o=

(N

10. =

B[]
.I.
e
Y pz

N

5 .
18. 5 +

ik A B g PP O A AL T B B S 2

] % "‘r .\\n;'.:. {
( Nai=
Z 2 .4 __ - 5 .1 _ / N
Lt s s~ 17.9%3= ___ [ \n
V) |
;’: ! ‘7."' { \\l \
{" Solve. 1 |
! (A

19. A soup recipe calls for % of a cup of olive oil.

One tablespoon is equal to T16 of a cup. How many

tablespoons of olive oil are needed to make the soup?
| 7

i ’k20f.f' A sheet of posterboard is 513 in. thick. How many

i - sheets of this posterboard are needed to make a

stack 2in. high? | |
i el

/ |

12.

Tl

~In

I

2
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e e

Divide. Simplify each quotient.

i 3 i =
T 2 2= — I 4
1. g +5= 7 2.3 "'1',3" ) 3. 7 =
W e ] S
A\ A 9 = QA — — I - 90 =
- P f ,
1 b B iHns 6 .4
7. §+3=1¢ §.3+2= 9 37+ 4=
\ ety
B i A D e o 8. =
10. £ + 4= . e=10 d2.5+6
13. 2+ 0= 14. 2+ 2= 15. 2+ 4 =
e 18/ w— LR . 4.8=
”{6-_%*5— 17. =+ 6= 18. 2+ 8 =
o
19. 2 + 10 = (203+9=7 21. &+ 3=
22 2:5= 23, 2:3= (24 Bl
3 i BT et i\ 8 ==
Solve.

25. A carpenter cuts a board that is % meter long into

6 pieces of equal length. How long is each piece?

26. Toni wants to store % gallon of sauce in 5 containers.
If she wants each container to have the same amount
of sauce, how much should she put in each container?

&

0



Livide. Simipiiiy each quotient.

1L1g+g=_ 212+3=_ 3.3%+3l=
Ot iz BN s2ea82 0 ealeds
T.25+45= /8 2§+‘7;=__ 9.2 +13=
10.3+24= M13+2= A2 13+ 45
13.5+35= 7 14.27+8= | 15, 42 + 11 =
163 + 2% = ____ 17.13 +22= 18. 1+ 13 =
19, 21 + 21 - A eo%— 1'} = _ﬁ____ 21. 13 + 1 =
22, 42 +13= 23.-5%+ 1= 2a. 1%;3;
25.1+33= 26._1%+1§=_____ 27. 13 + 23 =
Solve

28 Tom made 2 batches of cookies. He used
6 cups of flour How much flour is used to
make 1 batch?

29. Sonya has 3% yards of fabric that she wants
to cut into 6 pieces of the same length. How
long should she cut each piece?

NN
1V 1P
L LI



Solve each ;. cbilem. ""j ) ;L;' 9,

/ f 1 w 0 i
f’ A recipe for papaya ice cream calls for E cup of lemon
“ ~juice and 1l cups of ripe papaya. How much of each

ingredient !S needed to make l of the recipe?

l2 There are 48 people who have S|gned up to attend the
ks midnight barbecue at the Rainbow Canyon Recreation
Center. The chef wants to make enough burgers so that
each person can have 11 burgers.
/a How many burgers should he make?

_b. He uses ¢ pound of beef in each burger.
How much ground beef should he order‘?

("3. Marvin can do one load of laundry with —13 box of
7) laundry detergent. How many loads of laundry can he
” wash with 4 boxes of the detergent?

4. Adriana cuts 4 apples into eighths and 3 pears into sixths
to make a fruit salad. How many pieces of apple and pear
- does she have in the salad?

/6, There are 12 swings at the park. Of the swings, % have
" plastic seats. One third of the plastic seats are green.
How many of the swings have green seats?

6. Pietro used an eight-foot board to cut 3 shelves. Each
| shelf was 2% feet long.
a. How much board did the 3 shelves use?

e -
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Cnanging fractions to whole numbers or mixed numerals NAME ff‘ ‘ ' .«"" i A

" 4 DAFFY DEFINITIONS

DIRECTIONS: First, solve each problem below. Second, find your answer in the secret code. Third,
each time your answer appears in the secret code, write the letter of the problem above it.

e P 6. 10 _ 1. 72
- o 1
2. 8 _7 % 7. 22 _ 2.t 12, 100
gt W it 50
8 24 _ Ly 8. 88 _ /= 13. 43
B C g ~d-tB 7
4 9 7 9. 13 14. 34
3 e D =S 5
5. Aq TS 10. 22 _ 23 15. 33
@ T=tillh 6 — ozl 10
/ /\.
s A N
METRIC COOKIE: A
o~ W e S T
8:75 157 4= 6 =
[ (g / i L
% 1 . 1 2
4 5 4 5 6 7 4 5 3 3
[\ ) 7 4
DECLARATION OF INDEPENDENCE | |\ /
= ST i iz B
6~ 15 5 2 73 3 7o
Eox L (/5 £ W g
- ~ J Vv { A
o B T g 4 B
3730 275 75 375 175 9 175 773
I )
\/ - f ‘ ) / 4
A ) ¥ \ f ) w
i i1 4 1
3 10 5 3 ~ 6 5 4 5 5 3
~ A K
) ( \‘) ( {/
T S 2
1 ) 4 5 2 5 5 4 3

©1995 by Incentive Publications, Inc., Nashville, TN.
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Finding equivalent fractions NAME

What does a worm do in a corn field?

DIRECTIONS: First, solve each problem below. Second, find your answer in the secret code. Third,
each time your answer appears in the secret code, write the letter of the problem above it.

& -2 @ S L =1t 9"91“=%(A)
2 ‘. 2= 8 ) 6. 2 -8 @ 0L == (©
s =L g O =
“ -4 o " - @

4] G

16 \ iz g 792 5

n (
£ \ v | i
15 LD 20 e 4
7 9 6 6 6 '{

7 e Y6 17— 5) %

©1995 by Incentive Publications, Inc., Nashville, TN.



What Do You Call a Steer With
-2 Short Legs and 2 Long Legs?

Y2020 200 2026226026000 AC0C0 s

Find each correct answer at the bottom of the page and cross out
the letter above it. The answer to the title question will remain.

ST ST ST S-S S S-S5

1 A railroad construction crew can lay

1l mi of track in one day. At that rate,

how many m:les of track can be Ia|d in

10 days?

"‘f / ll) ‘

2 &

/

e -

2 A railroad construction crew can lay

P N

1-‘]( mi of track in one day. At that rate,

how many days will it take to lay 10 mi
of track? (/)

RN

5 BT

3 A gasoline pump delivers 3% gal of gas

per minute. How long will it take to fill a

gas tank that holds 13— gal?

]u)

972X

2

\,'—

ris -

_—

v by 7

nd1Pc

Rz 7 -
4 Doug has been wondering-where the

24 hours in a day goes. On Monday, he
L of the

spent

of the day sleepmg,

day in school and ~ g of the day at

soccer practice. How much time was

Ie? for other activities?

1

5 Ms. Snuggle divided 2+ Ib of meat into
8 hamburger patties. What is the

average amount of meat in each patty?
‘?’ ‘3 &

'," 3 |fi’ |{J’
6 An ultr athon athlete can run Iong

distances at an average speed of 73
7y :
/ miles per hour. At that rate,; how long

will it take him to ruwSO mlles’P

—

f\if\\ !:\T _’_.\‘G)'; N —
7 A broken pipe was leaking 1< 53 gal of
water per minute. It took Mr. Wrench
4 10% min to stop the leak. How much
water was wasted? a

8 A SCIence workbook IS —({n thick., Hew ‘
many workbooks will fit on az\f?s elf?” ”/ #

2803 %05 b 206 LB
9 Amanda used 5 cup of sugarto make
2 dozen cookles. How much sugaris in |

each cookie?

o B TH
JH <
< -

./ /_, ) \ N
S*-QQ-’?SV?S‘—?SV?Q QS\-’&QJ?S\-?S\-’?MQ—?9-’?9@9—’29—’29 =26 20202012
3 | N 9 7, );
Pllc|L o |E|a|a|x|N|B[R[E]T E >é F/| N
\ A p T \ S i/ \ / S
1] \ & / £ \/
: = |\ AR 5
P e | o = ‘o ™ £ a -C‘- o
| o| < ']N | o |l jay T Nl | e wn
o' |/~ |~lo|PZ] = | "] ~ N ||/ |oello]| < L
v ' A BT % Y
PUNCHLINE Problem Solving - N ' ' Problem Solving with Fractions:
©1996 Marcy Publications —_— 68 Multiply and Divide Fractions
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TOPIC 4-h: Multiplying Mixed Numbers

C-61
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TOPIC 5-b: Dividing Mixed Numbers
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Farmer Brown can harvest 2% acres of
corn in 1 day. How many acres of corn
can he harvest in 10% days?

Farmer Brown can harvest 2—:13- acres of
corn in 1 day. How many days will it
take him to harvest 10% acres of corn?




Buyer

Beware




L..Price for 1 Bag | .

a Day for 1 Day

_Price for 1 Bag .

a Day for 1 Week

a Day for 1 Month

a Day for 1 Year

_Price for 1 Bag | _

a Day for 1 Day

a Day for 1 Week

a Day for 1 Month

a Day for 1 Year




Why Did The Coffee Taste Like Mud?

T ( For each exercise, circle the best estimate. Write the letter next to your answer in the
box containing the exercise number.

|. Circle the percent that tells about how much of the bar is shaded.

@) 15% @ 40% @ 80% 60% . 259, @ 38%

90% (1) 75%

75%

(F) 60% 50% (R) 5%

Il. The circle graphs show the results of a student poll. Favorite Kind of Music
Circle the best estimate for the percent described.

g 10. About what percent chose rock music?
< P 5% @) 55% (L) 40% A

11. About what percent chose soul music?

@12% @2% @23%
J

1}2‘\ About what percent chose other kinds of music?
@) 4% @ 33% (T)67% g

/\1'/3_.. About what percent chose hot dogs? Favorite School Lunch

@) 8% (H)15% 25%
14. About what percent chose pizza?

@ 60% @ 50% @) 45%

15. About what percent chose chicken?

® 15% @26°/° @4%

s 2] 8 11]6 | 4 13 [ ] 10 | 8

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK E
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082'G @ gzs (1) . 082'G 40 % s(0) g1 (v) S} 40 %01

082'G 40 %01
082G 40 %00} o _.

/G130 %08
G140 %00} m

FOL 40 %l 8¥ 10 %01

87 10 %05
m ") 87140 %00} _w

009 40 %01

LOL 30 %04
LOL 4O %08

G 40 %!
G2 10 %01
S¢ 40 %085 w

005 40 %05
005 10 %00} m
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TOPIC 2-e: Mental Math:
Finding a Percent of a Number
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TOPIC 2-f: Estimating a Percent of a Number
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KON How Did Everybody Know When Sir ¥
© Lancelot Was in Love with a Lady? ,*

Estimate each percent. Under each exercise, circle the letter of the better choice.
Write this letter in the box containing the number of the exercise.

HINT: First change the percent to a simple fraction. Then change the amount to a
number that is easy to divide by the denominator of the fraction.

Iﬁa 317

(1) 26% pt 27 (2) 49% of 61 (3) 33% of 299 50% = %
V) about 10 @ about 25 about 100 .
@ about 7 @ about 30 @ about 120
o509, =L
@ 18% of 42 @ 41% of 42 @ 58% of 42 4
3
® about 12 @ about 16 @ about 20 5% = T
@aboutB @abouHO @about 24 P T .. N
(7) 74% of 45 67% of 88 (9) 13%of 25 33 % % = _%_
@ about 33 @ about 60 @ about 5 66£% 3 23
® about 27 @ about 50 ® about 3 3 3
(10) 37% of 25 (11) 63% of 25 (12) 86% of 25 R i
@ about 12 @ about 15 @ about 21 20% = —15—- :
® about 9 ® about 20 @ about 18 40% = _g_
@ 68% of 118 79% of 31 @ 24% of $202 sou) & %
9 about 72 @ about 28 @ about $44 .
o —_—
@ about 80 @ about 24 ® about $50 80% = 5
. 36% of $75 @ 62% of $162 76% of $47 o .
@ about $27 @ about $90 ® about $36 12%% = _;3_
(1) about $36 (U) about $100 (L) about $30 ot 1
2 )
39% of 152 . 52% of 495 @ 98% of 1,010 Aot
@ about 54 @ about 240 @ about 1,000 2 8
87 1op Sl
@ about 60 @ about 250 ® about 100 o 8
10] ]19[6 |12 1152115 [ 9 18]13[11 20 7 16| 4

TOPIC 2-f: Estimating a Percent of a Number E-24
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Worksheet #% ) . Name

{ Fraction Decimal

Fer Cent Fraction Decimal Fer Cent
0! 2L 26) ;+ 92% 1
2) .63 27) 3 4 1‘
3) 71% 28) = i L
4) j;lﬁ—_ 29) | 93% ml;
5) 9% 30) =19
6) ? 31) : 95%
7) .35 32) T
8) " 15% 33) 2
9) .29 34) s 60% |
10) 2 35) V12 |
() .7 36) 3% !
12) , 25% 37) ']g a3 I,
13) = 38) .37 ‘
14) 1.09 39) %
15) 23% 48 | 1164 |
16) = 41) 507 ;
) .14 42) ¥ S i
18) 100% 43) 5
19) .74 5 44) : 2..31
20) # 45) 5
21 ) 85% 46) . 50%
,2-3) _2.% 47) % ‘
. /) 45% 48) il
!) .75 49) 43
25) %—5 50) -
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Name Date

Section L. Ratios

'From Ratios to Percents page 10f2)

The following methods can be used to convert a ratio into a percent:

e The Fraction Method: Rewrite the ratio as a fraction and then convert the fraction into
a percent.

e The Ratio Method: Use a ratio table to calculate how many per 100.
o The Decimal Method: Use a calculator to express the ratio as a decimal by dividing and then

convert the decimal into a percent.

1. Two out of five students have read The Hobbit. Use each of the methods described above
to find a percent equivalent to two out of five.

(2. Two out of three students have read The Diary of Anne Frank. Use each of the above three
methods to determine a percent equivalent to two out of three.

82 SectionL Ratios Britannica Mathematics System

© 1998 Encyclopadia Britannica Educational Corporation. This sheet may be reproduced for classroom use.
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Name Date

SectionL. Ratios @~

From Ratios to Percents (page2of2)

3. Find an equivalent percent for each of the following by using one of the methods
described at the top of page 82:

a. Three out of 20 students participate in the drama club.

b. Seven out of 10 students have a bicycle.

c. Three out of eight students have read The Outsiders.

d. Three out of four students have read A Wrinkle in Time.

e. One out of three studenfs has read Roll of Thunder, Hear My Cry.
f. Eight out of 12 students have seen the movie Jurassic Park.

g. Only one out of 12 students has read the book on which the movie Jurassic Park
is based.

h. Five out of six students have been to the zoo.

i. The school has 250 students, but five are not in school today.

a)

© 1998 Encyclopadia Britannica Educational Corporation. This sheet may be reproduced for classroom use.

j. Mrs. Robinson’s class has 14 girls and 11 boys.
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84  SectionL Ratios Britannica Mathematics System
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Percent “Application”

Be sure to:

1)

2)

3)

4)

5)

6)

* write a word ratio
* set up a proportion
* solve the proportion
* label the answer.

Havertown Video rented 2000 videos in November.

500 were Action videos.

760 were Comedy videos.

460 were Drama videos.
What percent of each type of video were rented. What
percent of the videos rented were “Other” types of videos?

Joey shot the basketball 28 times and made 16 baskets.
What percent of his shots were baskets?

Caitie is reading Gone With the Wind. She has read 250
pages out of the 960 pages in the book. What percent of
the pages has she read?

The Saturn 5 rocket is 110 m tall. A model of the Saturn 5
rocket is 4 m tall. The model height is what percent of the

actual height?

Forty people each bought $2 lottery tickets. Three of these
people won $5, two of them won $10, and one of them won
$20. The total amount of money won is what percent of the
total amount spent on the tickets?

The Fords won 7 games, lost 9 games and tied 2 games.
What percent of the games did they win?
What percent of the games did they not lose?



Discount & Markup

Find the amount of discount
or markup

) Original Price: $120
rate (%) of discount: 30%

-

re Owner’s Price: $150

rate (%) of markup: 250%

&

Find the amount of discount
& sale price

3) Original Price: $150
rate (%) of discount: 18%

4) Original Price: $315
rate of discount: 40%

More or Less -- 1

Find the rate (%) of discount
or markup

5)"°  Amount of discount: $12.50
Original Price: $90

Stare Owner”s Price: $60
Amount of Markup: $78

(=)}
~

Find the amount of markup
& selling price

7) Store Owner’s Price: $65
rate (%) of markup: 220%

8) Store Owner’s Price: $145
rate of markup: 300%

Find the original price.

9) Amount of discount: $52.80
rate (%) of discount: 32%



Sales Tax

Find the amount of sales tax

1)

2)

Price of Item: $150
rate (%) of tax: 8%

Price of ltem: $14.50
rate (%) of tax: 5.5%

Find the amount of tax
& final cost

3)

4)

Price of Item: $1.25
rate (%) of tax: 9%

Price of ltem: $15
rate (%) of tax: 6.5%

More or Less -- 2

Find the rate (%) of tax

5)  Amount of tax: $8.05
Price of item: $115

6) Price of ltem: $60
Amount of tax: $3.75

Find the amount of discount,
sale price, amount of tax &
final cost

7) Original Price: $112
rate (%) of discount: 15%
rate (%) of tax: 7%

8) Original Price: $240
rate (%) of discount: 20%
rate (%) of tax: 5.5%



L

Review 1 -- Buyer Beware

6)

A sports club needs to order the following merchandise.
Fortunately, they will receive a 18% discount. Estimate the
savings for each item. S

a) basketball $23 . ¢) volleyball net $109

b) tennisracket $49.55 d) catcher's mask $15.70

Estimate each of the following amounts.
a) 48% of $400 c) 8% of $240
b) 32% of .$148 d) 23% of $200

Construct a circle graph and display the following data:

Favorite color of Ms Somers’ math classes: red, 12 students; blue,
10 students; purple, 18 students; green, 6 students; yellow,

14 students.

Find the amount of discount and sale price for each item.
a) original price $160 ; 32% discount
b)  original price $225 ; 15% discount

Find the amount of tax and final cost for each item.
a) price of item $45 ; 7% tax
b)  pricel ofitem $120 ; 6.5% tax

Find the amount of markup and selling price for each item.
a) store owner’s price $36 ; 250% markup
b)  store owner’s price $110 ; 300% markup

Find the amount of discount, sale price, amount of tax & final cost:
original price  $220 ; 20% discount ; 8% tax

Find the amount of markup, selling price, amount of tax & final cost:
store owner’s price $60 ; 270% markup ; 7.5% tax



9)  What's the better buy?
a) books, $29.99 at 10% off OR  books, $32.95 at 15% off

b) VCR, $120 at 30% off OR VCR, $240 at 60%o0ff

H




.(‘ Review 2 -- Buyer Beware

1) A sports club needs to order the following merchandise.
Fortunately, they will receive a 27% discount. Estimate the
savings for each item.

a) basketball $23 c) volleyball net $109
b}  tennisracket $49.55 d) catcher’s mask $15.70

2)  Estimate each of the following amounts.
a) 42% of $400 c) 8% of $300
by 18% of $148 d) 13% of $240

3) Construct a circle graph and display the following data:
Favorite color of Mrs Evart’s math classes: red, 8 students; blue,

10 students; purple, 5 students; green, 15 students; yellow,
12 students.

( 4)  Find the amount of discount and sale price for each item.
a) original price $140 ; 30% discount
b)  original price $215 ; 18% discount

5)  Find the amount of tax and final cost for each item.
a) price of item $44 ; 8% tax
b) price of item $120 ; 7.5% tax

6) Find the amount of markup and selling price for each item.
a) store owner’s price $34 ; 280% markup
b)  store owner’s price $170 ; 200% markup

7)  Find the amount of discount, sale price, amount of tax & final cost:
original price $250 ; 30% discount ; 9% tax

8)  Find the amount of markup, selling price, amount of tax & final cost:
store owner’s price  $80 ; 320% markup ; 6.5% tax

¢)



9)  What'’s the betier buy?
a) books, $35 at 12% off OR  books, $40 at 18% off
b) VCR, $120 at 20% off OR VCR, $240 at 60%oft

|

-/



Review 3 -- Buyer Beware

1)

2)

3)

4)

5)

A sports club needs to order the following merchandise. Fortunately, they
will receive a 32% discount. Estimate the savings for each item.

a) warm-up suit ' b) tennis racket
regular price: $46.99 regular price: $59.45

Estimate each of the following amounts.

a) 48% of $200 b) 28% of $272

Construct a circle graph to display the following data:

Favorite sports of Mrs. Evarts' classes:
Football, 21 students;  Basketball, 28 students;
Bowling, 10 students;  Skiing, 25 students; Hockey, 36 students

Find the amount of discount, sale price, amount of tax & final cost.
original price:  $320 '
% discount:  22%
% tax: 5%

Find the amount of markup, selling price, amount of tax & final cost.
store owner's price:  $50
% markup:  240%
c'/o tax: 6.5%
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Expressing unit rate

EXPORT CATTLE?

DIRECTIONS: Solve each problem by writing
the unit rate. Each time your answer appears

NAME

in the decoder, write the letter of the problem
above it. All rates are expressed in lowest

terms.

1. Ken purchased 100 pencils for $4.00.

©1995 by Incentive Publications, Inc., Nashville, TN.

2. The Atlanta Braves paid $200.00 to have 3,000 posters printed. -~ ) =H
3. Catherine sold 288 magazine subscriptions in 18 days. 'T =E
4. The Grogans drove a total of 1512 miles in 6 days. =L
5. A typist types 1,950 words !_'1__30 minutes. =0
6. The Kodak shop processed 228 rolls of film in 4 days. =R
7. Furniture Crafters charges $268.15 to assemble 31 chairs.
8. Cedric bought 12 pens for $1.44._ 12/] =P
") 9. Bonnie's parents pald $500\ for 25 lessons in horseback riding. = ) ijl,’[f A
10. Apples were on sale at 4 pounds for $1 20 | =8 | o
11. Six Flags’ season tickets were on sale at 6 for $264.00 ] / e =K g '
12. The Godfreys paid $2,184 to rent a chalet for 6 months. 11"7 /’ | 26
13. Ryan sold 216 chocolate bars in 6 days for his soccer team. .'!/ | M 7
14. Jean read 60 pages in 15 minutes. g / S =T 2.4 Hfff/j
f L | i,
1/.30 15/1 16/1 _ 8.65/1 $20/1 .04/1 4/1 .30/1
=i }/{ ! F L
4/1 65/1 1/$44 16/1 16/1 A12/1 .15/1 16/1 57/1
’ ( LM
.30/1 4/1 65/1 $364/1 1/%44 .15/1 65/1 252/1 36/1



Application and analysis NAME

Matching Ratios to Form Proportions

DIRECTIONS: An equation stating that two ratios are
equivalent is called a proportion. Match the following
ratios so that each one forms a proportion.

HINT: By cross multiplying, you can check two ratios.

B 21 6 x 14 = 84 These ratios do
4 14 4 x21 =84 form a proportion.
MATCHING:
| P RS M2u
e : 7 . 24
( 2 o S
e e e B33~
3 a—_14 /
S 2 C. 7353
I
i 4 b—-8
‘ ey DR

l-ﬁ\ !’3‘\
()] (/]
c.:lm ;;Im
[l-‘ = |
> s

e

q

B~
v H
.

: ‘ l I
o]
N
¥~
A
N
s o

\ 10.

©1995 by Incentive Publications, Inc., Nashville, TN.
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Percent and Proportion
What number is 15% of 607

n 15
. 0 503.1_66
s 070 100 n = 900
—_— == .
of 100 n

9 is 15% of 60.

Practice e Solve the proportions.

n 20 n_21 n_7 a 12
1. 7%8"3% 2. 36550 —— 3. 13739 4. 72 =7%6

n .2 L e i 90 042
5.53-3 6. i P I 7.40 100 —2u 8 550 K-
Solve by using proportion. A

What number is 40% of 257 What number is 30% of 607

What percent of 40 is 507 | .. What is 5% of 807

What number is 60% of 507 What number is 48% of 257

: T
24 is 40% of what number? [, What number is 115% of 207
- MYy -

What percent of 36 is 97 { J ; 27 is 15% of what humber?

What percent of 40 is 107? 2% What percent of 10 is 407

What number is 25% of 727 What percent of 50 is 457

— .
42 is 20% of what number? 10% of what number is 807
= o= ———— o, - :

(7 0 - {
" ) ~

= Use with text pages 204-205

AN iy e

VOl Ly e on



Name

CETTESASITE —

Practice 11-1

Student Book pp. 304-305

Solve. Write your answers in the cross-number puzzle. Do not write

percent symbols in the puzzle. il ' ]
N ? ]
{
5.
. Across T _\jﬁ?\“ |
4. 60 is 5% of what number? _ (1. 425 is what percent of 4257 { ——"
(‘5.. 800 is 2"1': of what number? - é 36 is what pe;;e’gﬁ of 507
B, What is ‘_95% of 80002 | ‘ /33}94 is 55% 'c;>f _V%?}_'lﬂ_ number? |
7. What is 82% of 75007 ¥ 6.77000 is 10% of what number?
(8. 18 is 15% of w}hat number?, ¢l .\\%, What pér‘oe)ﬂrl.: of 32%15 195?___
@/ 12 is whatjp_eilrcent of 157y 5 ; (g 4% of wh: ;Du;x'ub;r:‘i“s 6007 - \
10. 63 1s what"pei’f‘:ent of 315? ¢ N7 8023 1@; What pergér;; of 96 is 247 . \x!
,11 365 is 10% ‘%f(w_h:’a; number? e l@ What perc_e‘nF of 25 is 167 v 25
3. 27 s what\ﬁé}"c}eﬁt of 457 5 - | |
e ) /s 193

Copyright & 1387 by Houghton Mitflin Company
All rights reserved. Printed in U.S.A. / 7 112 PA
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Test -- Discount, Tax
Markup

1) Find the amount of tax

% tax: 8%
Original Price: $110

~NOZY

e ) e
g O o )

Amount of tax: ;"f i} o)

T | ” L

Name: !((cae| [|.qp

2) Find the % discount

Original Price: $200
Sale Price: $140 \

3) Find the amount of discount

Original Price: $75
% discount: 15%

J SC { SC
R ———

Amount
of discount: -

% Discount: Jd() e S
4) Find the Original Price
% Discount: 24%
Amount of discount: $57.60
Hint 10')cr _ o
o LIS 7 G 24 S0
VPecee " Tloo T1q
P
T
\ ;tk

Lot o
=

Original Price:




3)

| ’;" 1

()1 ;f ©

Original Price:

% discount:
% tax:

d o Lot
/5»3' 1[4 >

Find the:

$180
35%
8%

. .{;" ,"- Q
Amount of discoun \-f e )

Sale Price:
Amount of tax:

Final Cost:

% Markup Z
% tax:

/ ‘H 1 ﬂf ‘“to~
‘L_LQJ_ * Tl
G%Sffi 6 Vi f]

\

Find the:

Amount of tax:

Final Cost:

6) StoreOwners Price: - $175

IR YA

Amount of markup:
Selling Price: ()

240%
6%

AN | 75 7
T oL it
| ' A~
#
= A 1
N Y

0 f‘;;,- 1y

\5-\-—\?.)1
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'f:b—

Ferm Definition Iflustration
Congruent ,
Perpendicular ;
/M
vt Iy '

Adjacent Angles
Complementa;j,zﬂ )
Supplementary 17) 2 -

1

;f

I
Paralle]

Transversal

e

o~



Term

Definition

Illustration

Interior angles

Exterior angles

Corresponding
angies




i

inition [llustration

-+

Term De

Congruent

Corresponding
Parts

Similar

Quadrilateral

Parallelogram

Rectangle

Rhombus

Square




Term Definition [llustration

Trapezoid

Polygon

Regular Polygon |

Equilateral

Diagonal

-\

Pentagon
Hexagon
Heptagon
(Septagon)
Octagon
Nonagon
Decagon
Undecagon
Dodecagon
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" E]hu-ér sees the bank ba]ance\'o'f[Su

Advanced Integrated Math 7
Review for Finals '

-"‘“

Evaluate 7m - 3¢+ h; ifm=5,c=4andh=3‘_l’

An airplane went up to an altitude of 40,000 feet. It then went down 7,800
feet, went up 6,500 feet and then down again 430 feet. What was the
plane’s final altitude? > , '

Does 40000 - 7800 - ( -6500) + (-430) represent the airplane’s changes in
altitude from problem #27 :

Solvea/-8=16 " : e i

[‘ | ~ \ ;;;!%ht , Iy | h
Bob and Bill spent more {Har $205 while shopping. Bob spent $88.
What amount did Bill spend if “b” is the variable for this value?

/ \

The perimeter of a rectangle is 50 inches. Its Jength is one inch more than
{hree times its width. Find the length of the rectangle. 7 Kl

[ 94
In-riangle BEN, m<BEN = 469 and m<BNE = 799 . Find the measure of
<EBN.

Find the volume of cylinder if the radius = 8 cm and the Nelhe e
‘ f /Al / _:1) " - ‘; .7- —

(V= ']Tr‘?h; use 3.14 for I ). MT.9 ¢m

Solve -4/5 / (—5‘/‘4) = m. Whatis the solution for f‘m” n simples{\

—

: A \ AR F/ \
per-Rich Baron ... $40,000,000,000.

What is the number in scientific notation?



=
(f]) Shelisa bakes a round cake (for I day) that has diameter of 10 inches. She
" places a decoration around the circumference of the cake. How Jong is the

decoration? Use 3.14 forl and C = 11D , _9]
12)  Solve 4y +(-17) = 7y -2
13) Janice buys $30 worth of non-taxable items and some other items taxed at
s il 7.5%. Her total bill is $73. Write an equation to find the cost of the
Ui taxable items... where “t” is the total of the other items & then solve for t.
_“-‘_ia'a"‘('*lf\ — ) 4o ,;.

Bk i )
(Vi ‘ % [_,r (j
4 i

4s14-16. In APEN, f

the m<PEN = 3590 and

the m<ENP = 720.

&

jl()

(ﬁ/r

\ \_/

/

] 6‘)

!

What is the m<EPN? 7 29
|V :
’:' ) ’ - " -:,J:. -

Classify triangle PEN by its-sides (sca]ene Jsosce]es equn lateral) & by its
ang]es (acute right, obtuse)

“’Q/f a( e ANg|eS (/ f/ f( @, :,;r
H?w many IrzﬂtlsformanonQ about ane]e E can triangle PEN make unti] it

lfr\! [\/’! {D{irl‘

{ '/ \ -
| o TN

17) The area of a square 1s 144 sq ft. Find its perimeter.

,/\ ‘.

\]/é) Write arwgdjyi—ggg that is a solution of 4x + 3y =207

oK i

OPP U Write a pair of ratios that form a proportion.

Ll

—_

1



e
45 20 - 22. A package of M&Ms that sells for $.80 has the following contents

Red=7 Orange=4 Blue=9 Brown= 10
Yellow=12  Green =8 0

QO) What is the percentage of Green?
Aot - A
At a constant rate how many red M&Ms will be in a package that contains

150 total? |
/ / ( ed .

~=22) Whatis the unit cost of one M&M in the original package of M&Ms?

L : C)
{ A y '
% )J w b ) / \'.17' l ( {

| ly 3

T 23) What is the equahon of line d in the graph at the right? l

R e 'y

B g L~ 7 \
o oY, (24) What is the y inle}rcept of the line in question 237 A
. N it 3 7 } -
g [ |
(FOX" A25) If the line y = x was graphed on the same graph ] ‘ N

T as quesuon 23, where would the two ]mes intersect? ] Y 3 ‘
\ | 1 : ‘-._/ i.:;; \,\y \. ¥ o _: , -_ : (,!\ 0 l - wa "‘-}4,.' \‘_’,'\77/[ "'.\.' 278 :

2@ Find the rate of change (slope) in the line that contains the pomM

¢ M(8, 3) and W(6 -5) 2 < - .
/ hq hg l - ~C F-:’ YA 1 .,;“";,’lf:f;j,f |
@) A fertilizer is Spread at a rate of 40 pounds for 6000 ft2- How many
2 pounds are needed are for 21,000 fi29
/ é / [ / J | r H
)’ = | TN 4 ‘:
fefc_ |
/! : !
| § I -
.'\‘ \ \ ' I!/’),
— \ | ‘ \ y - :
\ C N\ \
\ | |
\\ "_,- ' ) | l /‘/\\
o N



#s 28 - 30 Use the figure 1o the right

%)

/

&2

Ifthe m<1=48%thenthem<5="7

L/ €°

Ifthe m<1=48%thenthem<8= ?

e
|3

Ifthe m<1=48%thenthe m<6=72

Peter has 4 pairs of socks and 5 pairs of shoes. How many different
sock/shoe combinations are pOSSJb]e &

- /-
-~ ra Y L
SOA

O (omb BT
Bryers Ice Cream has five ﬂavors that are p]aced on one type of cone.
How many different ways can the flavors be stacked so that no one order is
‘? — F \ i “-
repeated? R ; ) | Svyydx) x 1= (1))

Courtney has a photo of herself and her toy dog. Her image is 3.6 inches
high and the image of the dog is .9 inches high. Courtney is really 5.6 feet

tall. How tall is her dog? | !

On a map of Philadelphia, the scale is 1.5 cm = 600 m. If the Liberty Bell
is 5.5 cm distance from the First Union Center on the map, how many

meters distance is it actually?
2200



4c 35 - 39. Sharp is having a birthday p

arty in a hall. The hall is 40 m by 12 m.

Tables for the hall come in two different sizes; rectangular tables occupy 10

square Mmelers and\square 1ables occupy & square meters.

f €LV YA\

/55) How many circular tables will fit in the hall?
|

s

3

/38)

9

30)

42)

&)

o

" The gatekeepers at th
—1ast week’s football ga

How many square tables will fit in the hall?

Write two (2) possible combinations of rectangular and square tables.

ot ')

& 7

L Ll

Using (R, S) find the fair exchange of tables? IOt (0,10
R = # of rectangular 1ab]\'%”§;i’ S =# of ,squarei tables.— [ P
-] 4 4+ i,,l“ AN\ L - ‘r “ = 'fr..r“: o J K 1 f1 —
- 4 '\ ¢ | & ). i) --”)]/.' 4 S

S e — th Al Eri
around the Toom comfortably, the amount of L
are meters. Find a combination that

{ exactly. Find a combination that

S K WV

L8

So that people mr‘ay circulate
space for tables is reduced |t 71120 squ
would be a solution for this constrain

would not be a solution for this constraint?

id with base (a) of 8 inches, base (b) of 16 inches

Find the area of a trapezo
\ Y Y B =

and (h) height of 12 inches. [A=1/ 2 (atb)h]

e stadium estimate that 700 fewer fans came 10
me than the number of fans that attended this

week’s game. 1f 2045 fans stiended last week’s game, how many

fans attended this week’s game? i PN, ([

Edward and Colleen are playing a board game. Edward’s scores
for the last five rounds of the game have been 9,4,-5 7,and -8
Find Edward’s total score for the last five rounds.

Marge pours two gallons of apple juice inio :-baper cups. Each cup
holds eight ounces of juice. How many cups can Marge fill completely

with apple juice? (1 gallon = 128 ounces)

For his market, Jack buys 9 full cases of chiéken Séup and gets a
bonus of 5 extra cans of soup. He receives 230 cans of soup
altogether. Find the number of cans in one case of soup.



45)

49)

o

Find the y-intercept of the graph of y = -5x +7

An icicle melts away half its Jength every day. If the icicle is 32 inches
Jong at the beginning of the first day, how long is the icicle at the end
of the fifth day? ‘ e

ll 1A i)/\f__’,"
Tony has 1o replace the bottom panel in a door. The panel is
shaped like a square measuring 25 inches on a side (s). Find the

area of the panel Tony must buy. (A= 52)

Loretta is putting a fence around her grarden. The garden is shaped
like a rectangle 32 feet wide and 40 feet Jong. How many feet of

fencing does Loretta need?

The area of a rectangle is 28 sq cm. The perimeter of the same
rectangle is 22 cm. Find the Jength and width of the rectangle.

) L
)|

Find the volume ofa:rec:langﬂ]ar prism with Jength (L) of 14 inches,
width (W) of 8 inches and height (H) of 5 inches. [V =LWH ]

Solve for k: =7k, - ]9/‘= 9

!,If.\ -~ = i

- Solve form:  8m : 14 = ,J]7m + 4

soil

;; )/

.'!\ ~



Figure 1 Figure 2 ,

(g3), Find the value of X in Figure ]

n\/ ( '. H

(54) Find the measure of <BAT in Figure ]

/55) Find the measure of <BTA in Figure | ‘,
G \ : /
56) Find the measure of <PIC in Figure 2 T
57) Find the value of M in Ifigﬁre 3

58) Find the measure of < JOE in Figure 3

— ]

4559 - 6]  In the combination chart at the right,

2
/60)
Lo

61)

some of the squares have circles in them.
Find the numbers that go in the circles.

Circle A would contain what number? 7
-/
Circle B would contain what number?

[0

Circle C would contain what number?

[ )
[

I3

Figure 3

35

55|

TO@ |

m
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If 1 ‘Gj/org ‘

= i oe

N 1 Glorg = 1Slork + 1-Plorp_an 1 '

QC?K\’ 3 Plorps = 2131,91%5, f}rp, d\ & ‘)@
i

C'f’ 9 Then 1 G]org/ | ;\/‘? Sl_c:rks‘\\;;f"_,;;t.u e
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ﬁgr/‘/é ey T degiveeh
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88124

#s 63 - 65 Use the spinner, at the right, for question
@ What is thef;oroba)bi]ity of spinning Pink ?
(6_4) What is the ﬁrobalﬁ’i]iry of spinning a color

other than Aqua ?
— ;7/ ]

@ What is }hééprobabi]ity of spinning Blue ?
J .—Ij il |
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